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Q.1 gfe s @13 (x), TP 3 (), U BT 3 (2) 3R v &1 31 (+) B, Y e aiftreafaa &1
T 1 gRT?

(24U 8)V (85 6)
Ans X 1.48

X 2.49

& 3.50

o 4.51

Question ID : 630680835401

Option 1 ID : 6306803272390
Option 2 ID : 6306803272391
Option 3 ID : 6306803272392
Option 4 ID : 6306803272393

Q.2 Fdfe a5 U1 T8} TP aTgel & YR R T8 TP J1d SHre it 1 Ry 18 Jv snpfa
e AR 1

"2 1LY2 1Y LY

Ans X 1.1
X 22
X 3.4
& 4.3

Question ID : 630680835448

Option 1 ID : 6306803272578
Option 2 ID : 6306803272579
Option 3 ID : 6306803272581
Option 4 ID : 6306803272580
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Q.3 T T By 3R Frepul &) WHYd® ¢ g AFa g€ & Byl A & 7 e 9w €,
Y& € gg JETe: g1d aa) § fua wdia gl 8, vl & 7% f e el & @ w9
s Hu=t &1 aIfh® T A SRR FaT g

DY:
A. PO THRFAR |
B.$OCHIR US|
frend:

1. 9l TR U 1
2. 9t U eareR §1

Ans X 1. %Had FIShY 1 SFERU R §
o 2. AT 1 SR A 2 ST FRATR
X 3.l fsemef 1 3R 2 TR Rd
X 4. %ad spY 2 SR HRAT §

Question ID : 630680835431

Option 1 ID : 6306803272510
Option 2 ID : 6306803272512
Option 3 ID : 6306803272513
Option 4 ID : 6306803272511

Q.4 Fad JuiHTaT 8 & MUR W Fafafed e 1 aifée Fu | gof 7 & e vy fag
(?) & T TR FGT SATTAT?

V,W,Y, B, F,K,2?
Ans X 1.S
X 2T
3.0
X 4.R

Question ID : 630680835395

Option 1 ID : 6306803272368
Option 2 ID : 6306803272369
Option 3 ID : 6306803272367
Option 4 ID : 6306803272366

Q.5 W;mﬁwﬁ%mmwmﬁﬁﬁqmﬁh@ﬁmwaﬂmﬁﬁi
g R7

97 : 31
Ans X 1.70:13
X 2.13:16
5 3.19:63
44773

Question ID : 630680835459

Option 11D : 6306803272622
Option 2 ID : 6306803272624
Option 3 ID : 6306803272623
Option 4 ID : 6306803272625
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Q.6 fiarcfifeem & ufa & wr$ & frar &1 frareh & ufa & 7wy 32
Ans gz 1 O
5 2.3
25 3. HHT
K 4.qral

Question ID : 630680835320

Option 1 ID : 6306803272062
Option 2 ID : 6306803272065
Option 3 ID : 6306803272063
Option 4 ID : 6306803272064

Q.7 7fg 40 B & TE A a1 B ¥p FW T 136 § O 12 A ST ¥ fopaeit g0ift2
Ans 7 1.28

K 2.23
&< 3.22
K 4.25

Question ID : 630680835307

Option 11D : 6306803272012
Option 2 ID : 6306803272011
Option 3 ID : 6306803272010
Option 4 ID : 6306803272013

Q.8 T fAif¥d e U1 &, REAP ®Y 40 & U # foraT Irn 8 $iR CRY &1 46 & w0 H forn
SITdT 81 3T B HTST H GRAND &Y S forar wimeam?

Ans X 1.47
o 2.44
X 3.46
K 4.48

Question ID : 630680835419

Option 11D : 6306803272463
Option 2'ID : 6306803272465
Option 3 ID : 6306803272462
Option 4 ID : 6306803272464

Q.9 How many such letters are there in the series given below, each of which is
immediately preceded by a symbol?

TN#9JO0L5S$3*P% &A86B2*H4
Ans X 1.5

X 2.1
X 3.2
& 4.3

Question ID : 630680835373

Option 11D : 6306803272281
Option 2 ID : 6306803272278
Option 3 ID : 6306803272279
Option 4 ID : 6306803272280
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Q.10 gfg g &1 3ref ' §, = @1 3 '+ B, '@ BT 3+ B, o @1 3 x' B, A Frmfafaa siftreafaa
T HIF T g2

4#4*18@6$6=7?
Ans X 1.16

X 2.15
X 3.14
& 4.13

Question ID : 630680835341

Option 1 ID : 6306803272149
Option 2 ID : 6306803272148
Option 3 ID : 6306803272147
Option 4 ID : 6306803272146

Q.11 ama%mmmaﬁ%sanmwﬁaﬁ@aﬁﬁﬁqmwﬁmmaﬁmﬁr%
A 8?2

19:23

Ans X 1.71:77
X 2.19:62
5 3.13: 16
o 4.37:59

Question ID : 630680835408

Option 1 ID : 6306803272418
Option 2 ID : 6306803272419
Option 3 ID : 6306803272420
Option 4 ID : 6306803272421

Q.12 Which of the following options based only on common sense and general mental
ability without regard to any scientific and technical facts is different from the other
three options based on fruits and flowers?

Ans X 1. Hibiscus
«” 2. Banana
< 3.Rose
5 4. Orange

Question ID : 630680835439

Option 1 ID : 6306803272544
Option 2 ID : 6306803272543
Option 3 ID : 6306803272542
Option 4 ID : 6306803272545
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Q.13 1 & 713 yaar & Fad S iR e Bt ufthar, Wit ot aF 8, BT I Hd arfhs
FU A gt g9 & fore uy R (7) & R W FT T2

27,23, 29,25, 31,2, ?
Ans X 1.33,27

227,33
X 3.35,28
X 4.28,35

Question ID : 630680835453

Option 11D : 6306803272601
Option 2 ID : 6306803272600
Option 3 ID : 6306803272598
Option 4 ID : 6306803272599

Q.14 ©s fAfid $¢ YT &, KANPUR $Y RUPNAK & U & 31X DELHI ®T IHLED ¥ =0 §
fera <iman g1 3t B UTaT ¥ AGARTALA & feram wimeam?

Ans ¢ 1. ALATRAGA
X 2. AGARTALA
X 3.ALATAGAR
X 4. AGARALAT

Question ID : 630680835421

Option 1 ID : 6306803272470
Option 2 ID : 6306803272473
Option 3 ID : 6306803272472
Option 4 ID : 6306803272471

Q.15 fmferfad & A &1 a1 fawey fadt ff e iR de-ie! 9wl w o= feu fomn, daa
TTAT AR &A1 3R ATHT ATRIS 9 & SMYR TR fEarsd ok 39 o1 &
3MYR R Uy forg & ufawnfia swme

W:m::w:?
Ans X 1 T

* 2. 3maeq

X 3. 1fdr

o 4. BIel

Question ID : 630680835327

Option 1 1D : 6306803272092
Option 2 ID : 6306803272093
Option 3 ID : 6306803272091
Option 4 ID : 6306803272090
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Q.16 If the following words are arranged in the dictionary order then which of the following
word will come on the third place ?

Respect, Strong, Tough, Underground
Ans X 1. Underground

«” 2. Tough
5 3. Respect
X 4. Strong

Question ID : 630680835427

Option 11D : 6306803272497
Option 2 ID : 6306803272496
Option 3 ID : 6306803272494
Option 4 ID : 6306803272495

Q.17 Five men namely Asit, Bindesh, Raju, Kush and Piyush are sitting in a straight line
facing north. Asit is sitting on the extreme left end of the row. Bindesh is sitting
between Asit and Kush. Kush is sitting exactly between Bindesh and Piyush. If Piyush

is sitting immediately to the left of Raju from the right end, then who is sitting in the
middle of the line?

Ans X 1.Piyush
X 2. Asit
" 3. Kush
< 4. Bindesh

Question ID : 630680835362

Option 11D : 6306803272237
Option 2 ID : 6306803272234
Option 3 ID : 6306803272236
Option 4 ID : 6306803272235

Q.18 TH Vd Pt H&T A, $S O TP Ul A @S §1 QA1 3R A, T B B ¥ 27 U8 TS| QA
Pt we A pd foraq s 82

Ans o 1.53
&< 2.45
& 3.35
& 4.54

Question ID : 630680835414

Option 1 ID : 6306803272442
Option 2 ID : 6306803272444
Option 3 ID : 6306803272443
Option 4 ID : 6306803272445
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Q.19 Six friends Amita, Vinita, Chandni, Diya, Neerja, and Roshni are sitting in a row facing
north. Amita is sitting immediately before Chandni from left . Chandni is sitting
between Amita and Neerja. Vinita is sitting immediately to the right of Neerja. Roshni is
sitting immediate left of Amita. If Diya is sitting at the right end of the row, then who is
sitting on the left end of the row?

Ans X 1. Vinita
& 2. Neerja
25 3. Chandni
o 4. Roshni

Question ID : 630680835303

Option 11D : 6306803271994
Option 2 ID : 6306803271996
Option 3 ID : 6306803271995
Option 4 ID : 6306803271997

Q.20 fafafad e« aifée wu J ol g9 & fore wy g (2) & R w® Fa1 smem?

BE, BF, BG, BH, ?
Ans X 1.BK

X 2.BJ

« 3.BI
X 4.BL

Question ID : 630680835337

Option 11D : 6306803272132
Option 2 ID : 6306803272131
Option 3 ID : 6306803272130
Option 4 ID : 6306803272133

Section : General intelligence and Reasoning Ability 2

Q1 IJFHTCH & AP AF & YR R Fafafea sear «f aifés v & gof a9 & fog
uy 2% (7) & TIH W T T2

L,U,D,M,V,?
Ans X 1.G

& 2.E

X 3.C

X 4.H

Question ID : 630680835443

Option 11D : 6306803272559
Option 2 ID : 6306803272560
Option 3 ID : 6306803272561
Option 4 ID : 6306803272558
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Q.2 oY T By 3R Frepul &) WHYd® ¢ g AFa g & Byl A & 1 S 9w €,
Y& g gg IETe: gd aa) § e wdia gkl 8, vl & % fu e el 7 @ w9
frspd Hu=t &1 aIfh® T A SRR Far B

DY
A. 5 fersica .
B. ¥ er Hia= 71

e
1. 9t s Ha 7
2. 9ft Hieq sTew &

Ans X 1. %ad et 2 STERY IR §
X 2. 3 freme 1 3R 2 3TERU AR §
X 3. %ad fspt 1 3R BT §
o 4. T B 1 SR 7 El 2 SR HRaAT ]

Question ID : 630680835432

Option 1 ID : 6306803272515
Option 2 ID : 6306803272517
Option 3 ID : 6306803272514
Option 4 ID : 6306803272516

Q.3 IR &t 7S aen &) Fad it 3N geM Pt ufthar, st ot AR 8Y, BT SUAT HF arfhs
FU ol T4 & g wy g () & RIF W |1 M

16, 19, 27, 30, 38, ?, ?
Ans X 1.40,48

X 2.49, 41
2 3.48, 40
o 4.41,49

Question ID : 630680835404

Option 1 ID : 6306803272403
Option 2 ID : 6306803272404
Option 3 ID : 6306803272402
Option 4 ID : 6306803272405

Q.4 On the basis of only common mental understanding and general mental ability without
caring about any scientific and technical aspect, which of the following options is
different from the other three options based on flowers and fruits?

Ans X 1.Lotus
& 2. Jasmine
X 3. Lily
" 4. Grape

Question ID : 630680835442

Option 11D : 6306803272554
Option 2 ID : 6306803272556
Option 3 ID : 6306803272557
Option 4 ID : 6306803272555
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Q5 fgfifed & @ o149 a1 gm R g e siftreafe & w22

3581 :1853
5978 : 8795

Ans o 1.5274:4725
/< 2.7331:1373

/< 3.4578: 4587
/< 4.1356: 1365

Question ID : 630680835405

Option 1 ID : 6306803272407
Option 2 ID : 6306803272408
Option 3 ID : 6306803272409
Option 4 ID : 6306803272406

Q.6 frgferfad & ¥ o9 a1 fawer ga 83 (x) & vhas Hm?

(X). s 2. 3. 4,
Ans X 1.1

~ 2.2

3.4
X 4.3

Question ID : 630680835396

Option 1 ID : 6306803272370
Option 2 ID : 6306803272371
Option 3 ID : 6306803272373
Option 4 ID : 6306803272372

Q.7 A} oft g iR aw-Nal aul @t urarg P fa1 Haa wm= 34 3R wmH=
AFTRY® &A1 & YR R Fafetad # 9 &9 31 faweu fivew fFmfor & snyr w e=
o fapeul I sremT 82

Ans 1 flhe
< 2. famtar
X 3. Fews
X 4. UCHY TED

Question ID : 630680835388

Option 1 ID : 6306803272340
Option 2 ID : 6306803272338
Option 3 ID : 6306803272339
Option 4 ID : 6306803272341
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Q.8 ayT~ Td dH-IP! a] o uxarg fHd o1 Paw GH=a AFRIS vgar Td aE=
ARy 97 & YR R Fufafad # 9 #1991 faee fava) 3ik 39¢ Iu-fawal &
YR R Uy g &1 =IE am?

a{?fsznﬁ:w::gfagm:?
Ans X' 1. Scdrg

o 2. el Geoid

X 3. 3@

X 4. BIEgIoA

Question ID : 630680835434

Option 1 ID : 6306803272525
Option 2 ID : 6306803272524
Option 3 ID : 6306803272523
Option 4 ID : 6306803272522

Q.9 On the basis of general mental ability and general mental understanding only, without
regard to scientific and technical facts, which of the following options will replace the
question mark on the basis of workers and their tools?

Chef: Knife :: Sculptor:?
Ans X 1.Bread

o 2. Chisel
25 3. Sword
25 4.Pen

Question ID : 630680835433

Option 11D : 6306803272518
Option 2 ID : 6306803272521
Option 3 ID : 6306803272520
Option 4 ID : 6306803272519

Q.10 If all the numbers are removed from the series given below, which will be the 9th
element from the right?

O7T@K7#A6G4*L"4K&M9KE&3G
Ans X 1.4

K 2.G
X 3L
sS4

Question ID : 630680835423

Option 1 ID : 6306803272478
Option 2 ID : 6306803272481
Option 3 ID : 6306803272479
Option 4 ID : 6306803272480
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Q.11 TS TR B 3R SURT Ha gY HHAT (AfRa) el ¢ i awik # o 36 afgen fwr &
fOraT & 2 B gpaidl a8 8| WA BT TR | fom T afgen & w7 ddy 82

Ans X 1.7f
o 2. W I
< 3.981
x 4. T TR

Question ID : 630680835321

Option 11D : 6306803272069
Option 2 ID : 6306803272066
Option 3 ID : 6306803272067
Option 4 ID : 6306803272068

Q.12 gfg g @1 ored - B, P ord + B, '@ BT+ R, w1 o e B, A FrwffET siftafe
T A 1 g2

4#3*8@2%$5="7
Ans X 1.14

X 2.15

X 3.16

& 41

Question ID : 630680835399

Option 1 ID : 6306803272383
Option 2 ID : 6306803272384
Option 3 ID : 6306803272385
Option 4 ID : 6306803272382

Q.13 % fAfya Fis HTUT &, RED &Y 27 ¥ = # for@1 ST @ 3R BLUE &Y 40 & ¥u # foran
ST 21 S P UIST # GREEN $ $4 for@r smgm?

Ans X 1.46
X 2.47
& 3. 49
X 4.48

Question ID : 630680835311

Option 11D : 6306803272026
Option 2 ID : 6306803272027
Option 3 ID : 6306803272029
Option 4 ID : 6306803272028
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Q.14 g FrafafaT w=) @) Tgev Hu & afRud fear s, 9t fFafafee & 3 sq
R UR SATYM?

Ans X 1.Forget
X 2. Respective
25 3. Successful
«” 4. Torque

Question ID : 630680835317

Option 11D : 6306803272052
Option 2 ID : 6306803272051
Option 3 ID : 6306803272050
Option 4 ID : 6306803272053

Q.15 3T MY HYHY 3R Fpul F AFYdS | T8 A 5T fF HY & & 18 IFeR a4 ©,
YA € g8 FrHTa: i al | i wdid g 8, fAvla o 7% fow e el & @ @9 ar
frsd wyAl &1 aIfb® U A SER HaT 3|

DPY:
A. $T BId TN T
B. 39 ®1d gTht g1

foree:
1. 9 e grht @
2. 9 P19 grR B

Ans X 1. %ad FISHY 1 STHR0T Bl &
o 2. 7T fsh 1 3R T € 2 SFIERU AT §
X 3. %aq e 2 SR HraT &
X 4. Q1 e 1 8RR 2 SFTIRU A &

Question ID : 630680835323

Option 11D : 6306803272074
Option 2 ID : 6306803272076
Option 3 ID : 6306803272075
Option 4 ID : 6306803272077

Q.16 fpdt oft ayTie 3R do-iel @t @1 wRare fre 9= haw =T 39 ik |
AR &A1 & YR R, Fraferfad # & @17 91 faeea i, sriafve i 8k Ara
TRR & YR W 37 i faweat d e 82

Ans X 1. febsH
X 2.8l
X 3.hg
o 4. RR

Question ID : 630680835391

Option 1 ID : 6306803272352
Option 2 ID : 6306803272353
Option 3 ID : 6306803272351
Option 4 ID : 6306803272350

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258024204/1258024204S7D1091/17187992328093802/2311...  12/69


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

715124, 11:53 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258024204/1258024204S7D1091/1718799232809...

Q.17 A7 U4 dp-ite! 9l R &1 2T T haa =g AARIe aadT U9 9TH
ARy 90 & YR R Fafafad # 9 #1991 fieeu g ok o= 719 & SR W)
uy fag &1 R am?

HRG : qY :: ITded :?
Ans X' 1. Hodl

X 2.7¢

o 3. U1

K 4.3

Question ID : 630680835387

Option 1 ID : 6306803272335
Option 2 ID : 6306803272337
Option 3 ID : 6306803272334
Option 4 ID : 6306803272336

Q.18 Six friends Amita, Vinita, Chandni, Diya, Neerja, and Roshni are sitting in a row facing
north. Amita is sitting immediately before Chandni from left . Chandni is sitting
between Amita and Neerja. Vinita is sitting immediately to the right of Neerja. Roshni is
sitting immediate left of Amita. If Diya is sitting at the right end of the row then, who is
sitting between Chandni and Vinita?

Ans X 1.Chandni
/5 2. Roshni
25 3. Vinita
o 4. Neerja

Question ID : 630680835305

Option 1 ID : 6306803272003
Option 2 ID : 6306803272005
Option 3 ID : 6306803272002
Option 4 ID : 6306803272004

Q.19 W;ﬁ%uﬁﬁﬁr%mmwﬁaﬁ@aﬁﬁﬁﬂmwﬁmwm%
A 77

587:20
123 : 06

Ans X 1.340:50
o 2.458: 17
25 3.198:15
X 4.289:17

Question ID : 630680835349

Option 1 ID : 6306803272180
Option 2 ID : 6306803272181
Option 3 ID : 6306803272178
Option 4 ID : 6306803272179
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Q.20 3af, I, e, A, Hoad N Fig- BE G & Sl SHIRT D1 S-S Jforal IR
I8d & Afp sl 781 b gt o W &Y | 3raf 3R Prore R FHudt o e wivra
W1 T, ra-t 3R T $ @it & St di & Tedl 81 §uw, e 3R Higw &) Jivra
& 1o 9 A 381 21 SR T T #ioe ) ®1 Tgar 82

Ans X' 1. 3@t
X 2.\
o 3.9
X 4. @A

Question ID : 630680835369

Option 1 ID : 6306803272262
Option 2 ID : 6306803272264
Option 3 ID : 6306803272263
Option 4 ID : 6306803272265

Section : General Awareness 1

Q.1 fufafed & @ o1 1887 & Hamar A Ao R AT T F SeAsr A2
Ans X 1. G Tl

o 2. TEIYTS ARISht

X 3.89eg, It . gl

X4 U ggH

Question ID : 630680840339

Option 1 ID : 6306803292040
Option 2 ID : 6306803292037
Option 3 ID : 6306803292039
Option 4 ID : 6306803292038

Q.2 How many types of justice have been mentioned in the Preamble of the Indian
Constitution?

Ans X 1.4
2.3
&< 3.2
K 4.5

Question ID : 630680839273

Option 1 ID : 6306803287774
Option 2 ID : 6306803287775
Option 3 ID : 6306803287776
Option 4 ID : 6306803287773
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Q.3 R =fe de siftferam, deayT, I fauraTel ok @ faem 9t & afgensi
¥ o e omRfera sear 82

Ans X' 1. TEd
X 2. fEEH g
X 3.9ITg
o 4. TP Iy A faeh

Question ID : 630680840330

Option 11D : 6306803292004
Option 2 ID : 6306803292003
Option 3 ID : 6306803292001
Option 4 ID : 6306803292002

Q4 usfaT gleaw ik gdé dov 3 anfdeae § Rei URa ¥ Tue &1 ulsa fewms fear ut
TG U B TR P 3@ 7€ A 3R FHfor 18 SER, 1927 FY qRT g3 AUTI
Ans X 112 BRad], 1919

X 2.12 BRas, 1923
o 3. 12 TRaR], 1921,
X 4.12 BRas, 1920

Question ID : 630680839279

Option 1 ID : 6306803287800
Option 2 ID : 6306803287797
Option 3 ID : 6306803287799
Option 4 ID : 6306803287798

Q.5 Hra § Fafifed § 3 fre RM w© yRda I8t SN $1 RITeE $i TS @2
Ans X' 1.7

X 2. WER
3. 955

X 4. BB

Question ID : 630680840338

Option 1 ID : 6306803292036
Option 2 ID : 6306803292033
Option 3 ID : 6306803292035
Option 4 ID : 6306803292034

Q.6 fRrgy 7 3% ufy 1000 ShifyT w= W a9 P 3y | v Rrgaii # gog A HEm
Ans X 1279

21T
X 3.2
X 4.6 76H

Question ID : 630680840354

Option 1 ID : 6306803292100
Option 2 ID : 6306803292098
Option 3 ID : 6306803292099
Option 4 ID : 6306803292097
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Q7 _ Py ¢4 & e @ YRa § W STy kg feaw wman mi
Ans X 1. Rgg &g

X 2. faqer ash

o 3. WTaH faxar ger

X 4. SR HHARTH 19

Question ID : 630680839246

Option 11D : 6306803287666
Option 2 ID : 6306803287665
Option 3 ID : 6306803287667
Option 4 ID : 6306803287668

Q.8 frmfifad # I fFua AoR wree O 7@ [REPR 2023 Sfidl 872 (SR $ad fU 1Y
e A A 1)
Ans X 1. TgHg TH
X 2.5fa gy
o 3. IR A TS I
X 4. foRTe oigat

Question ID : 630680840322

Option 11D : 6306803291969
Option 2 ID : 6306803291971
Option 3 ID : 6306803291972
Option 4 ID : 6306803291970

Q9 ol § @ fpaa uiedf Te sm-fafew wa 37 i yws Rt 8 2
Ans o 1. QIQTHTE RIS

X 2. gL Sl

X 3.9, o . §ei

X 4.0l ggH

Question ID : 630680839257

Option 1 ID : 6306803287709
Option 2 ID : 6306803287712
Option 3 ID : 6306803287711
Option 4 ID : 6306803287710

Q.10 R SFaRY # TR 1 SURE SN ST ____ FeIwman gl
Ans X 1 @IUd

2. TPITAHCE

X 3. EIeRancy
X 4. ey

Question ID : 630680840364

Option 11D : 6306803292139
Option 2 ID : 6306803292138
Option 3 ID : 6306803292137
Option 4 ID : 6306803292140
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Q.1 YRd PT Ydi=d ATATT HRd P GAU & dgd G AT e g1 '@fau™= &
ITBG # %g1 T @ % “HR BT ve Hatw ey gl
Ans X 1.133

X 2.128
X 3.135
& 4.124

Question ID : 630680839278

Option 11D : 6306803287795
Option 2 ID : 6306803287794
Option 3 ID : 6306803287796
Option 4 ID : 6306803287793

Q.12 These forests are restricted to heavy rainfall areas of the Western Ghats and the island
groups of Lakshadweep, Andaman and Nicobar, upper parts of Assam and Tamil Nadu
coast. Which kind of forest has been discussed here?

Ans  # 1. Tropical Evergreen Forests
#5 2. Mangrove Forest
2% 3. Tropical Deciduous Forests
25 4. Montane Forest

Question ID : 630680839269

Option 1 ID : 6306803287759
Option 2 ID : 6306803287760
Option 3 ID : 6306803287758
Option 4 ID : 6306803287757

Q.13 YRd WHR A T SR STe WA (IR 3% Tt iR AR v
Jar3il &1 AR R FeHH0 P IS WAfAe Wred urd (@ifeast) vem
W%mﬁﬁzsﬂmmwsﬁvwﬁ(@mm)mwm

P e .

Ans o 1. SN 3RIY HiR
X 2. 3 W g
X 3. 31d IeIe W $x
X 4. 3 SR TR

Question ID : 630680839253

Option 11D : 6306803287694
Option 2 ID : 6306803287695
Option 3 ID : 6306803287696
Option 4 ID : 6306803287693
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Q.14 fufafed & @ 59 tive da ot wH | wdf T A7 g 32
Ans g1 faertEC

& 2.99

X 3.faefim B

X 4.

Question ID : 630680840366

Option 11D : 6306803292147
Option 2 ID : 6306803292148
Option 3 ID : 6306803292146
Option 4 ID : 6306803292145

Q15 3uiferai(Receipt) & o IR SRR W S graT 78 adT 21 3UfE 3= R-ufada
PET ST 81 32 B 3R IR-$? A Ryuifora fpar ma @

Ans X 1. ollTd wfer
X 2. frafa ofeat
X 3. dqfera urferar
o 4. JSTE Uit

Question ID : 630680839255

Option 1 ID : 6306803287702
Option 2 ID : 6306803287701
Option 3 ID : 6306803287704
Option 4 ID : 6306803287703

Q.16 i 3ifw SR Bt gaiyy ) FafifEd ¥ J frad) @ 22
Ans 1 fidior St

X 2. 3Wd I
X 3. 3Rfdg snfem
X 4. 3vufa T

Question ID : 630680840342

Option 11D : 6306803292050
Option 21D : 6306803292051
Option 3 ID : 6306803292049
Option 4 ID : 6306803292052

Q.17 Ugadi Festival is primarily associated with which of the following states of India?
Ans X 1.Nagaland

25 2. Manipur
/< 3. Sikkim
& 4. Andhra Pradesh

Question ID : 630680840348

Option 11D : 6306803292074
Option 2 ID : 6306803292075
Option 3 ID : 6306803292076
Option 4 ID : 6306803292073
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Q.18 =7pufy y® ity af & Way & 59 9¢ & g WRd WRPR Y srgnfa wifear ok
Y PT TP IaR01 HHG S Q1 Heal & gAe T@argd, O arfife fasia faaror we1
STET| , 8T YR Sfaum & 6 e o1 S fpar mar @2

Ans X 1. 3[®q- 118
X 2.3 J®™q - 115
o 3. 3®a - 112
X 4. 3DG - 116

Question ID : 630680840335

Option 11D : 6306803292024
Option 2 ID : 6306803292022
Option 3 ID : 6306803292021
Option 4 ID : 6306803292023

Q.19 When the primary tributaries of rivers flow parallel to each other and secondary
tributaries join them at right angles, the pattern is known as

Ans X 1.Radial
75 2. Dendritic
X 3. Centripetal
o 4. Trellis

Question ID : 630680839268

Option 1 ID : 6306803287755
Option 2 ID : 6306803287753
Option 3 ID : 6306803287756
Option 4 ID : 6306803287754

Q.20 %g_glaﬁzomwﬁ?ﬁ@aﬁﬁaﬁqvﬁwmaﬁmmaﬁaﬁwﬂﬁm
?
Ans g1 TG
X 2.997]
X 3. I%pd
X 4. afia

Question ID : 630680840344

Option 11D : 6306803292057
Option 2 ID : 6306803292060
Option 3 ID : 6306803292058
Option 4 ID : 6306803292059

Section : General Awareness 2
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Q1 T srfoqawr 7T € orad Aol &7 ik TR & Sl Hivlg 3k Huifera gia 82
Ans X 1. SR 3foqawT

2. URURe srfeuaw

K 3. fHTRIT R U s TE

o 4. Tf%a srforawn

Question ID : 630680839254

Option 11D : 6306803287698
Option 2 ID : 6306803287700
Option 3 ID : 6306803287699
Option 4 ID : 6306803287697

Q2 gufl P TSeI B 1800 W ATHS U SoN{~aR 3R RIdcaal gRT BT & ardr T[T
1|

Ans X 1. RN Yie
X 2.3 70
X 3. S AN Yed
o 4. il Dier Hapoll

Question ID : 630680839259

Option 1 ID : 6306803287717
Option 2 ID : 6306803287718
Option 3 ID : 6306803287720
Option 4 ID : 6306803287719

Q.3 31 S - 2024 a9 FAEf@d & F 19 A UTIT YR B AR YT &1 gt o
smiftrer g 82

Ans @91_%2?[
x 2. 3nfear
X 3. 9w
X 4. HerTey

Question ID : 630680839262

Option 11D : 6306803287729
Option 2 ID : 6306803287730
Option 3 ID : 6306803287731
Option 4 ID : 6306803287732

Q.4 ST FHI-HY W P S aTell TS Y TP ARSI 0T 81 YR & ggen
SoETaY _ #gs o

Ans o 1.1872
X 2.1871
X 3.1881
X 4.1951

Question ID : 630680839271

Option 1 ID : 6306803287765
Option 2 ID : 6306803287766
Option 3 ID : 6306803287767
Option 4 ID : 6306803287768
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Q.5 g1l BT rehequr, M 3R fFra=or ua STANT &Y FIYT ST, Ygi WRda
;‘rﬁm%ﬁm&ﬂ%‘dmmﬁmw??ﬁ

Ans 1. 3T - 324
X 2. 3f=G - 329
X 3. 3f=q - 328
X 4. 3THG - 345

Question ID : 630680839276

Option 11D : 6306803287785
Option 2 ID : 6306803287787
Option 3 ID : 6306803287786
Option 4 ID : 6306803287788

Q.6 T 2023 # YRA # ATTT Wl BT BT AT HPR0T Ao fam mar?
Ans #1374

X 2.344
X 3.389
X 4.354d

Question ID : 630680839242

Option 1 ID : 6306803287649
Option 2 ID : 6306803287652
Option 3 ID : 6306803287650
Option 4 ID : 6306803287651

Q.7 fEfafad d A P Nueda & o A NN T A7 Qa1 g2
Ans X 1. faaffAB-K

X 2. a9
X 3.0
o 4. facft B - 1

Question ID : 630680839283

Option 11D : 6306803287814
Option 21D : 6306803287816
Option 3 ID : 6306803287813
Option 4 ID : 6306803287815

Q.8 fyfafed & @ o a1 SR o IR s arar ugar i su=amd g2
Ans X 1 T8 3t W g

o 2. TS 3 JSRd Bt IAIfy )

X 3.3 S 3 3hSi-RA

X 4. TR TR

Question ID : 630680839260

Option 11D : 6306803287724
Option 2 ID : 6306803287722
Option 3 ID : 6306803287723
Option 4 ID : 6306803287721
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Q.9 fmfafed & A few =, 9= wirdia ke ffad ¥ WRd & 91 Srar 82
Ans X 1.25 3T

o 2. 15 TdR
X 3.31 R
X 4. 31 9GS

Question ID : 630680840327

Option 1 ID : 6306803291992
Option 2 ID : 6306803291991
Option 3 ID : 6306803291990
Option 4 ID : 6306803291989

Q.10 The Himalayas consist of three parallel ranges in its longitudinal extent. with the
northern-most range being .

Ans X 1.Aravalli
¥ 2. Himadri
75 3. Kalsubai
75 4. Shivalik

Question ID : 630680840349

Option 1 ID : 6306803292077
Option 2 ID : 6306803292079
Option 3 ID : 6306803292080
Option 4 ID : 6306803292078

Q.11 [t AR SfE) BT U Yfe iR fa® I™Id 81 U8 I U A
PHTUHH € SN SMHAR R 01 F 10 f3HER 9% BT &1 39 394 DI YRS fafqear &
Eﬁwaﬁm%mumaﬁvmﬁmmaﬁmﬁhmﬁ%maﬁné
I

Ans X 1. =i wEtra
o 2. B Aeld
X 3. 9fS AEa
X 4. 3f1fe HEIHa

Question ID : 630680839266

Option 1 ID : 6306803287747
Option 2 ID : 6306803287745
Option 3 ID : 6306803287746
Option 4 ID : 6306803287748

Q.12 YRt Wiy F ford Wi § \ifee Sdedl ot 94! 1 TS 82
Ans X 1 UTT-VA

X 2. 4TIV
X 3. 4T-V
& 4 MR- IVA

Question ID : 630680839274

Option 1 ID : 6306803287777
Option 2 ID : 6306803287779
Option 3 ID : 6306803287780
Option 4 ID : 6306803287778
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Q.13 I YA & HeY fawqd o 31 §78 99 a1 I ST ST 8 9k A 200 T A 70 TR F Fw
auf aTet &9 # Tet §Y 81 39 991 UPR & U PP THI A T B | 316 W18 a9 30T
ufRrat RT3 €1 T61 [ UPR & 97 3T Iecka fovar 1 32

Ans X 1. Tddg e
X 2. Jueieddig HaresR a
o 3. SUIGCaTT o a1
X 4. Bda g

Question ID : 630680840351

Option 11D : 6306803292085
Option 2 ID : 6306803292087
Option 3 ID : 6306803292086
Option 4 ID : 6306803292088

Q.14 HRAT IEH ST I RMUAT G g3 &, TaR WA wfaffy 7Ry (@9 Sfe wid
& = | A1 oG 9n) | fra 32

Ans X 1.85
X 2.125
5 3.80
& 4.72

Question ID : 630680839256

Option 1 ID : 6306803287708
Option 2 ID : 6306803287705
Option 3 ID : 6306803287706
Option 4 ID : 6306803287707

Q.15 A8 =fdT de Aufufraw, 2023 7 FTUT 3R Tu/ds IR v fyurvsal #
Afgemei &Y 3MR&01 3 B Wepdl § &Y 82

Ans g1 T B
X 2. Uierar uFT
X 3.T% AU
X 4. @aar UM

Question ID : 630680839249

Option 1 ID : 6306803287678
Option 2 ID : 6306803287677
Option 3 ID : 6306803287680
Option 4 ID : 6306803287679

Q.16 YRd # Hifdefice I o1 Fafukaed Fufife § @ fras grT o mr a2
Ans X 1.9, 7% foweht

X 2. YRd IR0 ¢
X 3. WY 3R URAR S HAey |
o 4. TRH SEELE 8 Sfean

Question ID : 630680840334

Option 11D : 6306803292019
Option 2 ID : 6306803292017
Option 3 ID : 6306803292020
Option 4 ID : 6306803292018
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Q.17 frufafea # @ fFa ad & Sifrei uge ar @ish 7 6t 2
Ans X 1.1695%

o 2.1665%

% 3.1680%

X 4.1725%

Question ID : 630680839282

Option 11D : 6306803287811
Option 2 ID : 6306803287809
Option 3 ID : 6306803287810
Option 4 ID : 6306803287812

Q.18 YRd &1 T, IRT ¥ Muraife iR G- A Ty, wudia yomeht 91 ger faivarsit
PSP 81 T8 Y F 1T TP THG BT WU HaT & o 3R e, aryfq
I [T (1541 B uRkg) 3R AeaHT (RN &1 o) iid 2

Ans X 1. IWIFUfd
X 2. BT e

& 3. Ul
X 4. 94 T

Question ID : 630680840362

Option 1 ID : 6306803292132
Option 2 ID : 6306803292129
Option 3 ID : 6306803292131
Option 4 ID : 6306803292130

Q.19 fgfafea & A frw af uRa & sheadt @y far mar ur?
Ans o 1.2017

X 2.2015
X 3.2014
X 4.2019

Question ID : 630680840336

Option 11D : 6306803292027
Option 2 ID : 6306803292026
Option 3 ID : 6306803292025
Option 4 ID : 6306803292028

Q.20 3T Gear feeedt weaa & Fufafea & @ fea Tody 3 defta 2
Ans o 1. AT GRIATH 9

X 2. adr

X 3. Raeroh g

X 4. IS 99

Question ID : 630680839258

Option 1 ID : 6306803287716
Option 2 ID : 6306803287715
Option 3 ID : 6306803287713
Option 4 ID : 6306803287714
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Section : Arithmetical and Numerical Ability 1

Q.1 How many twin primes are there between 100 and 150?
Ans X 1.6

2.3
X 3.5
X 4.4

Question ID : 630680840449

Option 11D : 6306803292480
Option 2 ID : 6306803292478
Option 3 ID : 6306803292479
Option 4 ID : 6306803292477

Q.2 A 3R B US HH B 5 &A1 # H3 APd §, 9afed ¢ 3MR D I o FI 14 & A H 9P
21 A, B, C 3R D 39 T® U1 fra & & @1 5312

Ans X 1. 62/18 fad
X 2.60/9 &A1
o 3.7019 &
X 4.77/20 fe=

Question ID : 630680840467

Option 1 ID : 6306803292551
Option 2 ID : 6306803292549
Option 3 ID : 6306803292552
Option 4 ID : 6306803292550

Q.3 T® 3TeHl T 440 H U T AT @ 3R I 16% B 71 W J=ar 8| /e &1 faspa
e T R
Ans o 1.2 369.60

X 2.3310.25
X 3.3373.80
X 4.%34550

Question ID : 630680840457

Option 11D : 6306803292511
Option 2 ID : 6306803292509
Option 3 ID : 6306803292512
Option 4 ID : 6306803292510

Q.4 219 60 T foha Ufa=ra G=Mell FT SHIS 3H 1a19 82
Ans 7 1.20%

< 2.25%
/< 3.27.5%
/< 4.22.5%

Question ID : 630680840452

Option 1 ID : 6306803292489
Option 2 ID : 6306803292491
Option 3 ID : 6306803292492
Option 4 ID : 6306803292490
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Q5 gfy 21 Q. S A vE AT F TF ET STher 2244 A T,
o SR AT T EM? (1 = Z BT Y
Ans X 1 18854 9.3
o 2. 19074 9 3
X 3.19860 9. HI.3
X 4.16324 9.3

Question ID : 630680840478

Option 11D : 6306803292593
Option 2 ID : 6306803292595
Option 3 ID : 6306803292594
Option 4 ID : 6306803292596

Q.6 A certain sum amounts to ¥ 5,887 in 2 years at 16% per annum compound interest
(compounded yearly), the sum is.

Ans X 1.34786
X 2.34523
o 3.24375
X 4.34126

Question ID : 630680840439

Option 1 ID : 6306803292440
Option 2 ID : 6306803292439
Option 3 ID : 6306803292438
Option 4 ID : 6306803292437

Q7 TH LR Pt FTTESAT 30000 g1 fS q1ffeh 571 GR 9% SR G IR 7% B, A 2 ad a1g 30
MR P THE e gift?

Ans o 1.31212
X 2.28561
X 3.31205
X 4.29172

Question ID : 630680840456

Option 11D : 6306803292508
Option 2 ID : 6306803292505
Option 3 ID : 6306803292507
Option 4 ID : 6306803292506
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Q8 Fiferepr &1 3T B SR Y BT IR <

5 3fT- 2T He ! (SHaRI-He) H 6 R (A, B, C, D, E 2R F) GRI 991 T8 SR H! T

A B F2 D % F
SHTRT| 356 234 | 245 | 412 341 203
TRA | 315 245 | 274 | 300 | ar2 230
Ad | 287 253 | 314 | 325 365 280
Md | 345 322 | 412 | 200 256 321
o5 423 345 | 270 | 285 268 310

A H gl U UGSl gRT 95l T BRI &1 SAId T 1 82
Ans X 1.305

o 2.296

5 3.300

K5 4.302

Question ID : 630680840444

Option 11D : 6306803292460
Option 2 ID : 6306803292457
Option 3 ID : 6306803292458
Option 4 ID : 6306803292459

Q.9 20 Yt x 4 T HTIH AT U ATAIGR gde O, Ta F51 UHd Bioar a1l U gaieR 5w o ol g | s

PTG A S (7 = 2 ST HY
Ans ' 1 1240972
X 2.32529.H.2
& 3.12.56 9. 2
X 4.33.639.H.2

Question ID : 630680840475

Option 1 ID : 6306803292582
Option 2 ID : 6306803292583
Option 3 ID : 6306803292581
Option 4 ID : 6306803292584

Q10 i ¢ 3t e & T F1 3gUTa 5: 8 31 IS GO o1 3 °e H 330 .+, garh &, oY ugeht
o 3t 1T Fm gRA?

Ans X 1.59.45 . der
& 2. 68.75 fob 1t fedal
X 3.68.67 fov.Hl./ger
X 4.68.55 fh Hl/eer

Question ID : 630680840421

Option 11D : 6306803292366
Option 2 ID : 6306803292367
Option 3 ID : 6306803292368
Option 4 ID : 6306803292365
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Q.11
afaRad f[adedl & ¥ Ul 931 fddhed @i |
Ans X' 1. 0.34
X2 045
X3 L
C 17
4
4 =
7

Question ID : 630680840445

Option 11D : 6306803292461
Option 2 ID : 6306803292463
Option 3 ID : 6306803292464
Option 4 ID : 6306803292462

Q.12 %Tnmmsﬁﬁmaﬁ?ﬁzﬁmmaﬁﬂazms%l g9 5 T3 BT TN T
?

Ans o 1.135
K 2.29
X 3.162
X 4.132

Question ID : 630680840433

Option 11D : 6306803292414
Option 2 ID : 6306803292413
Option 3 ID : 6306803292416
Option 4 ID : 6306803292415

Q.13 ul%gzsxy 3, 7 3R 11 | Wi 89 areht 5 3T Ft 9ad 7 TB §, aF (4x - 3y) PTHE
FR?

Ans X 1.3
2.6
X 3.5
X 4.8

Question ID : 630680840450

Option 1 ID : 6306803292481
Option 2 ID : 6306803292483
Option 3 ID : 6306803292482
Option 4 ID : 6306803292484
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Q.14 248 Y.} mga= AT TP 319 U9 &1 2 F.HI. fHIR 910 DI 319 T+ A fywnfora foran
T 1 g a1 B "L TS 1 PR
Ans X 1.13
o« 2.31
&~ 3.25
& 4.30
Question ID : 630680840425
Option 1 ID : 6306803292383
Option 21D : 6306803292381
Option 3 ID : 6306803292382
Option 4 ID : 6306803292384
Q.15 gfg x: y=1: 38, @ (2x + 5y) : (x + 4y) BT AT A DI
Ans X 1.13:10
X 2.15:12
o 3.17:13
K 4.15:14
Question ID : 630680840463
Option 1 ID : 6306803292533
Option 2 ID : 6306803292536
Option 3 ID : 6306803292534
Option 4 ID : 6306803292535
Q.16 A moneylender charges ¥ 40 as simple interest on a sum of ¥ 600 for four months.
What is the rate of interest per annum?
Ans X 1.18%
W 2.20%
~3.2%
N 4.25%
Question ID : 630680840388
Option 1 ID : 6306803292233
Option 2 ID : 6306803292234
Option 3 ID : 6306803292235
Option 4 ID : 6306803292236
Q.17 A shopkeeper sells a toy by giving 20% discount on its marked price and gains 25%.
What is the marked price of the toy, if its cost price is ¥ 2400?
Ans X 1.%1650
X 2.%31845
5 3.%1990
o 4.3 3750
Question ID : 630680840460
Option 1 ID : 6306803292523
Option 2 ID : 6306803292521
Option 3 ID : 6306803292522
Option 4 ID : 6306803292524
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Q.18 T 3ATGHY Hraterg BT 3R 5 fb.HY. ufay ¢ &) i & g Han & 3R 8 fp . ufa 9 ot
T T I 3ATAT 21 3R I AP S 3R a7 31 # 16 6 T € of MfpI WA
fraft R 87 (TP TR RIF 95 Y5)

Ans X 1.355fH A
X 2.40.5 fo. .
X 3.55.4 b
o 4.49.2 T Al

Question ID : 630680840423

Option 11D : 6306803292374
Option 2 ID : 6306803292375
Option 3 ID : 6306803292376
Option 4 ID : 6306803292373

Q.19 90 A.H. GaTE arehl St & TP g e B ghsl A HieT 141, @} darS T SrguTd 3:7 ATl
T Ad ghS B el Id BT

Ans X 1,559
X 2.48 91
o 3.63 9.
X 4.36 9.4

Question ID : 630680840415

Option 1 ID : 6306803292341
Option 2 ID : 6306803292343
Option 3 ID : 6306803292342
Option 4 ID : 6306803292344

Q.20 <) fegr T 7S =< 5 AT SREF] (A, B, €. D 2R E) & Jlle 1 {40 a0l &1 59 9+ s sRam

BT HA I 1000 515 ¢ | (B4 =9 HREH &1 S1E 51 941 5 BT b el Jele o UL & =g i
g

FufEl D R ¢ & e B U T G aTel &3 T daty i (& ) g S
Ans X1 12040
X2 112.6°
X3 12320

4 118.8Y

Question ID : 630680840392

Option 11D : 6306803292251
Option 2 ID : 6306803292249
Option 3 ID : 6306803292252
Option 4 ID : 6306803292250

Section : Arithmetical and Numerical Ability 2
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Q.1 Three times of a natural number is 28 more than the number. Then, the number is:
Ans X 1.18
X 2.21
& 3.20
o 4. 14

Question ID : 630680840400

Option 11D : 6306803292283
Option 2 ID : 6306803292284
Option 3 ID : 6306803292282
Option 4 ID : 6306803292281

Q2 4 3.1 Bear 9 TR & e srdma o 50 .18 FATE ard U @9 g P A ST A4
B 2P & muR & Brsar & ghfte

Ans X 1. 49T
X 2,259
X 3.383
o 4. 1601

Question ID : 630680840479

Option 11D : 6306803292600
Option 2 ID : 6306803292598
Option 3 ID : 6306803292599
Option 4 ID : 6306803292597

Q.3 TH B P 12 TR H 3fid 3P 40 11 U8 6 TWR) & N 3 42 & 3 3ifed I T=f
F 3T 3@ 35 81 TTad TR A IA fram i we gu?
Ans X 1.25
& 2.17
X 3.23

&< 4.20

Question ID : 630680840384

Option 1 ID : 6306803292217
Option 2 ID : 6306803292220
Option 3 ID : 6306803292218
Option 4 ID : 6306803292219

Q.4 gwit U I & Uz 4 6 82 . Wit /deT Y iy A 7 el g1 3R 2w g 38 o der
P T 6 B W 79 Bl 21 fob. . /eier A IHST et iy & g2
Ans X 1.525

X 2.50
o 3.55.6
X 4.48

Question ID : 630680840470

Option 11D : 6306803292561
Option 2 ID : 6306803292564
Option 3 ID : 6306803292563
Option 4 ID : 6306803292562
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Q.5 QRIS HBATSH BT FUTA 8:3 31 S TS @M A 5 SiST oY SR SIS @A | 2
ST 91T, oY 93t W1 DIt W= Y i AT §Y Sl 3 1 W 91l He |

Ans X 1.72,27

o 2.88,33
X 3.80,30
X 4.64,24

Question ID : 630680840411

Option 11D : 6306803292326
Option 2 ID : 6306803292325
Option 3 ID : 6306803292327
Option 4 ID : 6306803292328

Q.6 320 TeX Tt TP 7 TH US B 20 AFs A UR Hel & 3R udta fo=m & arn &= &t
U TS P g} 31 P 32 b B UR Bl 31 gt o1 &t iy rar 82

Ans g1 4TI
X 2.6 TA.
X 3.8 M.
X 491,

Question ID : 630680840472

Option 1 ID : 6306803292570
Option 2 ID : 6306803292572
Option 3 ID : 6306803292569
Option 4 ID : 6306803292571

Q7 %Tnﬁfmaamno H @G SI1a1 § 3N T 45 H =1 1T 2| 3fSfd A1 &7 ufaera «=an
?

Ans o 1.125
& 2.30
& 3.60
& 4.90

Question ID : 630680840407

Option 11D : 6306803292310
Option 2 ID : 6306803292309
Option 3 ID : 6306803292311
Option 4 ID : 6306803292312
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Q.8 =@ =g 7% 2005 ¥ 2011 #r 3@ F g B Fo= garr s & amr H#k 57 Fwr &
Tl & AT &1 s e
frow Fo avl # e sl qan s Ak T & A # eI
18
fg 2006 F FI= F HAF T 400 FT o1, S 2006 H FU=r F FaT (3 Tz #) Fa=r a7
Ans
2. 320 $i|3
Question ID : 630680840395
Option 11D : 6306803292262
Option 2 ID : 6306803292263
Option 3 ID : 6306803292264
Option 4 ID : 6306803292261
Q.9 Mohan has borrowed ¥ 4000 at the rate of 6% p.a. simple interest. What amount does
he need to pay after 3 years to clear the debt?
Ans X 1.%3200
o 2.34720
/5 3.%4500
X 4.%2650
Question ID : 630680840387
Option 1 ID : 6306803292231
Option 2 ID : 6306803292229
Option 3 ID : 6306803292232
Option 4 ID : 6306803292230
Q.10 TR 3P| P} TSI H, UFAT b R 3 T TF TS 3, TRRT 3% Ugd 3R g 3P &7
?"T%, Safe sifaw o ugd 8 &1 o 1 81 Fuferfaa & @ 98 wen v wt 8 wad
?
Ans X 1.1456
o 2. 2686
25 3.1345
5 4.2608
Question ID : 630680840451
Option 1 ID : 6306803292485
Option 2 ID : 6306803292486
Option 3 ID : 6306803292488
Option 4 ID : 6306803292487
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Q.11 3= &) Ula § 94% 3 i1 afe I/ 470 3w faea €, o) siftredw si 3id #ifvTT|
Ans X 1.550

X 2.580
X 3.520
« 4. 500

Question ID : 630680840406

Option 1 ID : 6306803292306
Option 2 ID : 6306803292308
Option 3 ID : 6306803292307
Option 4 ID : 6306803292305

Q12 fFpfafea wite & sreaae &Y SR Tl F I T

fafir Qe Wer ard s Al Wl & 9 &) e
(0% B Had U Td 9ol )
o] 9eer™
A B C D E
e 300 240 260 280 260
peald 209 150 160 130 180
TRpeard 205 200 215 220 240
defiied 100 310 170 180 220
g 85 90 80 75 70
Tt Tl H 2 W el Bl B Sl W] 3R I Ipal H SRepesiel Ear I Bl & B S & 619 6
AR A2
Ans X 1, 40
« 2. 680
X 3. 580
< 4. 640

Question ID : 630680840393

Option 1 ID : 6306803292253
Option 2 ID : 6306803292256
Option 3 ID : 6306803292254
Option 4 ID : 6306803292255

Q.13 Sunil buys a mobile phone by getting a discount of 30 % on its marked price and sells
it at its marked price. What is his profit percent (approximate)?

Ans X 1.18%
o 2. 42.9%
& 3.32%
K 4.22.8%

Question ID : 630680840410

Option 11D : 6306803292323
Option 2 ID : 6306803292321
Option 3 ID : 6306803292322
Option 4 ID : 6306803292324
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Q.14 260 3R 520 BT HCF =T 872
Ans o 1.260

X 2.120
X 3.520
X 4.160

Question ID : 630680840397

Option 1 ID : 6306803292269
Option 2 ID : 6306803292271
Option 3 ID : 6306803292270
Option 4 ID : 6306803292272

Q.15 FgItdT 3 HTHT B 3% ATIS TP qls aTo BI &2 A 3 T§ & g 2 8200 IUR 3wl 3 a¢f
1 Tt HY e areft MR (@) @

Ans o 1.38960
< 2.36340
&< 3.%37740
&< 4.%38741

Question ID : 630680840390

Option 1 ID : 6306803292241
Option 2 ID : 6306803292244
Option 3 ID : 6306803292242
Option 4 ID : 6306803292243

18 iRl U 1 1 £ ferfl B ORT hRll © | T BT BT I 1 T 4 o1 9 o e

Ans g
o 1. —
45

1
45
2
45

4

Xa -
45

&~ 2.

Question ID : 630680840417

Option 11D : 6306803292349
Option 2 ID : 6306803292351
Option 3 ID : 6306803292352
Option 4 ID : 6306803292350
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QA7 2R BT 4.28 T AR o Sams, 10 U T UF X BT T TN AAd Maedd g (n - z FHIHEIHY)
Ans X' 11109112

X 2.169 4. 2

X 3.122.8 92
o 4.134.59 102

Question ID : 630680840476

Option 11D : 6306803292585
Option 2 ID : 6306803292587
Option 3 ID : 6306803292586
Option 4 ID : 6306803292588

Q.18 i Iufiqart, hifa, Toita ok 9g 7 T g1 78T SR 378 HHRM: 2000, 1910 3R 2590
die ured g¢1 WA &Y oo wal &1 feanr ufa=ra wr gam (3rgare)?
Ans X 1.25%

o 2.30.77%
X 3.44%
X 4.32.16%

Question ID : 630680840402

Option 11D : 6306803292290
Option 2 ID : 6306803292289
Option 3 ID : 6306803292292
Option 4 ID : 6306803292291

Q.19 Ifg TP TIH P daTS 3R FHATS HHR: 16 WeR 3R 12 Mex 8, 3R FHST 3ma+ 3072
Me:® B, Y st AieTs (Hiex #) 31a B3
Ans X 1.10

< 2.18

 3.16
X 4.22

Question ID : 630680840473

Option 1 ID : 6306803292575
Option 2 ID : 6306803292573
Option 3 ID : 6306803292576
Option 4 ID : 6306803292574

Q.20 ) TSI BT 3FUTd 6 : 11 1 TS I &4 BT e 280 &, a1 ST wEmai # @ Bidt
T &1 W 82

Ans X 1.325
X 2.230
o 3.336
& 4.285

Question ID : 630680840464

Option 11D : 6306803292537
Option 2 ID : 6306803292538
Option 3 ID : 6306803292539
Option 4 ID : 6306803292540
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Q.1 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

Artificial Intelligence (Al) has become an increasingly popular topic of discussion in
recent years.

A) Artificial Intelligence has taken over almost every industry and household with its
advanced and easy to use technology.

B) A few centuries back, who would have thought that there would be self-driving cars,
robots who would even vacuum the floors of our houses or virtual assistants who
would answer any of our questions without typing it on our mobile phones but here we
are today with all of these facilities improving and easing our lives.

C) Most famous examples are: Virtual assistants like Alexa, Siri and Google assistant,
Self- driving cars like Nissan Pro Pilot assist and Tesla Autopilot, Robots like Roomba
980 vacuum cleaning robot.

D) Al has been a game changer in business but outside the offices as well. Virtual
assistants have removed half of the burden of the household chores as it has helped
people leverage their time.

Ans X 1.CDBA
< 2.DCBA
«” 3. BACD
X 4.ABCD

Question ID : 630680837922

Option 1 ID : 6306803282390
Option 2 ID : 6306803282387
Option 3 ID : 6306803282388
Option 4 ID : 6306803282389

Q.2 Select the appropriate article from the below options to complete the sentence. Mark
“No article” if there is no requirement of article in the given sentence.

__only teal like is black tea.
Ans X 1.an

o 2. the
X 3.a
25 4. No article

Question ID : 630680837984

Option 11D : 6306803282634
Option 2 ID : 6306803282633
Option 3 ID : 6306803282632
Option 4 ID : 6306803282631
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Q.3 A statement has been given with highlighted text. You are required to replace the text
with correct idiom from the given options.

Do not (commit something that you cannot fulfill).
Ans 1. bite off more than you can chew
5 2. Back against the wall
< 3. Cry wolf

5 4. Upset someone’s applecart

Question ID : 630680837828

Option 11D : 6306803282021
Option 2 ID : 6306803282019
Option 3 ID : 6306803282022
Option 4 ID : 6306803282020

Q.4 Choose the most appropriate one-word substitution for the below word.

“ A place where money is coined”
Ans X 1.Bank

5 2. Treasury
& 3. Mint
/5 4. Granary

Question ID : 630680838003

Option 1 ID : 6306803282709
Option 2 ID : 6306803282707
Option 3 ID : 6306803282710
Option 4 ID : 6306803282708

Q.5 Select the correct preposition from the below options to complete the below sentence.

He might not be at home __ Tuesday morning but he’ll probably be there in the
afternoon.

Ans X 1.for
2. while
o 3.0n
X 4. at

Question ID : 630680837910

Option 1 ID : 6306803282340
Option 2 ID : 6306803282342
Option 3 ID : 6306803282341
Option 4 ID : 6306803282339
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Q.6 Select the appropriate article from the below options to complete the sentence. Mark
“No article” if there is no requirement of article in the given sentence.

artists who came to see me today are quite accomplished.
Ans X 1.A

75 2. No article
3. The
X 4. An

Question ID : 630680837800

Option 11D : 6306803281912
Option 2 ID : 6306803281911
Option 3 ID : 6306803281913
Option 4 ID : 6306803281914

Q.7 Select the most appropriate form of verb from the given options to replace the
underlined and bracketed word in order to correct the below sentence.

This temple will (closed) after an hour.
Ans " 1. close

75 2.is closes
5 3. closing
5 4. was closed

Question ID : 630680837812

Option 1 ID : 6306803281962
Option 2 ID : 6306803281961
Option 3 ID : 6306803281959
Option 4 ID : 6306803281960

Q.8 Select the most appropriate meaning of the proverb below from the given options.

“The pen is mightier than the sword “
Ans X 1. Explaining something is easier through a picture than by words.

«” 2. The written word is more effective than violence as a means of social or political
change.

/5 3. Something might not be as valuable as it seems to be.

/5 4. People dependent on others must be content with what is offered to them.

Question ID : 630680837831

Option 1 ID : 6306803282032
Option 2 ID : 6306803282031
Option 3 ID : 6306803282033
Option 4 ID : 6306803282034
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Q.9 Fill in the blanks with the most appropriate homonym in the following sentence.

Fishermen make their living from the, .
Ans X 1.she

5 2. saw
< 3.see
o 4. sea

Question ID : 630680837840

Option 11D : 6306803282068
Option 2 ID : 6306803282070
Option 3 ID : 6306803282067
Option 4 ID : 6306803282069

Q.10 Choose the most appropriate one-word substitution for the below word.

“A person with a compulsion to steal”
Ans X 1. Teetotaler

25 2. Sommelier
«” 3. Kleptomaniac
5 4. Apostate

Question ID : 630680838002

Option 11D : 6306803282704
Option 2 ID : 6306803282703
Option 3 ID : 6306803282705
Option 4 ID : 6306803282706

Q.11 A statement has been given with highlighted text. You are required to replace the text
with correct idiom from the given options.

When they heard about the surprise quiz, the students were (not at all) excited.
Ans X 1.(on) cloud nine

/5 2. beating around the bush
< 3.allears

«” 4. anything but

Question ID : 630680838011

Option 1 ID : 6306803282735
Option 2 ID : 6306803282738
Option 3 ID : 6306803282736
Option 4 ID : 6306803282737
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Q.12 Select the most appropriate form of verb from the given options to replace the
underlined and bracketed word in order to correct the below sentence.

| was eager to (talks) to her, but she showed little interest.
Ans X 1.talking

75 2. talked

« 3. talk
X 4. be talking

Question ID : 630680837921

Option 11D : 6306803282386
Option 2 ID : 6306803282385
Option 3 ID : 6306803282384
Option 4 ID : 6306803282383

Q.13 Select the most appropriate form of verb from the given options to replace the
underlined and bracketed word in order to correct the below sentence.

If you are busy now | will (comes) tomorrow.
Ans X 1.came

75 2. had come
o 3. come
/5 4. be coming

Question ID : 630680837920

Option 1 ID : 6306803282380
Option 2 ID : 6306803282382
Option 3 ID : 6306803282381
Option 4 ID : 6306803282379

Q.14 Select the most appropriate form of verb from the given options to replace the
underlined and bracketed word in order to correct the below sentence.

| (goes) around the town looking for my cat.
Ans X 1.amgo

o 2. went
X 3. going

X 4. was went

Question ID : 630680837916

Option 1 ID : 6306803282366
Option 2 ID : 6306803282365
Option 3 ID : 6306803282363
Option 4 ID : 6306803282364
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Q.15 Select the most appropriate SYNONYM of the word highlighted/ given in brackets in
the below sentence.

Today, distance has become (insignificant) in terms of time, and travel for business,
military or diplomatic reasons has become virtually immediate.

Ans X 1. Consequential
2. Trivial
25 3. Substantial
5 4. Meaningful

Question ID : 630680838020

Option 1 ID : 6306803282772
Option 2 ID : 6306803282773
Option 3 ID : 6306803282774
Option 4 ID : 6306803282771

Q.16 Select the most appropriate SYNONYM of the given word below.

Deteriorate
Ans X 1.Develop

75 2. Flourish
«” 3. Decline
/5 4. Upgrade

Question ID : 630680838104

Option 1 ID : 6306803283102
Option 2 ID : 6306803283099
Option 3 ID : 6306803283101
Option 4 ID : 6306803283100

Q.17 Select the most appropriate SYNONYM of the given word below.

Malicious
Ans X 1. Respectful

25 2. Gracious
«” 3. Nasty

X 4. Compassionate

Question ID : 630680837836

Option 11D : 6306803282051
Option 2 ID : 6306803282052
Option 3 ID : 6306803282054
Option 4 ID : 6306803282053
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Q.18 Parts of the following sentence have been given as options that contain an error in
spelling. Select from the below options that identify the misspelt word.

Rising global temperatures and drought have helped turn parts of Hawaii into a
tindrebox ahead of one of the deadliest fires in modern US history, with these
conditions worsened by strong winds from a nearby cyclone.

Ans X 1.conditions
X 2. worsened
5 3. deadliest
” 4. tindrebox

Question ID : 630680838027

Option 1 ID : 6306803282799
Option 2 ID : 6306803282801
Option 3 ID : 6306803282800
Option 4 ID : 6306803282802

Q.19 Select the most appropriate SYNONYM of the word highlighted/ given in brackets in
the below sentence.

The annual inflation rate, coupled with the (unscrupulousness) of some employers,
has led to a situation where many people are not able to earn enough to cover their
basic needs.

Ans 4 1. Corruption
25 2. hardwork
/5 3. Faith
/5 4. Honesty

Question ID : 630680838022

Option 1 ID : 6306803282780
Option 2 ID : 6306803282779
Option 3 ID : 6306803282782
Option 4 ID : 6306803282781

Q.20 Select the correct preposition from the below options to complete the below sentence.

I love playing cricket __ summer.
Ans X 1.from

X 2.0on
o 3.in
X 4. at

Question ID : 630680838074

Option 1 ID : 6306803282983
Option 2 ID : 6306803282984
Option 3 ID : 6306803282985
Option 4 ID : 6306803282986

Section : Test of English Language and Comprehension 2
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Q.1 Select the most appropriate form of verb from the given options to replace the
underlined and bracketed word in order to correct the below sentence.

He had made his decision and refused to (changes) his mind.
Ans X 1.is changes

«” 2. change
< 3. was changing
5 4. changed

Question ID : 630680837811

Option 11D : 6306803281957
Option 2 ID : 6306803281958
Option 3 ID : 6306803281955
Option 4 ID : 6306803281956

Q.2 Select the most appropriate form of verb from the given options to replace the
underlined and bracketed word in order to correct the below sentence.

We are (participate) in the cultural program.
Ans X 1. participates

5 2. been participate
¥ 3. participating
X 4. participated

Question ID : 630680838084

Option 1 ID : 6306803283024
Option 2 ID : 6306803283026
Option 3 ID : 6306803283025
Option 4 ID : 6306803283023

Q.3 Fill in the blanks with the most appropriate homonym in the following sentence.

Houses built near the are at greater risk of flooding.
Ans X 1.sole

25 2. soul
«” 3. shore
X 4. sure

Question ID : 630680837943

Option 1 ID : 6306803282469
Option 2 ID : 6306803282470
Option 3 ID : 6306803282468
Option 4 ID : 6306803282467
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Q.4 Select the most appropriate form of verb from the given options to replace the
underlined and bracketed word in order to correct the below sentence.

It (taking) me an hour to finish the job.
Ans X 1. be taking

o 2. took
75 3.is take
75 4. be took

Question ID : 630680837919

Option 11D : 6306803282378
Option 2 ID : 6306803282375
Option 3 ID : 6306803282376
Option 4 ID : 6306803282377

Q.5 Choose the most appropriate one-word substitution for the below word.

“A collection of weapons and military equipment”
Ans X 1.Convent

/5 2. Hangar
25 3. Burrow
o 4. Arsenal

Question ID : 630680837821

Option 1 ID : 6306803281995
Option 2 ID : 6306803281997
Option 3 ID : 6306803281996
Option 4 ID : 6306803281998

Q.6 Parts of the following sentence have been given as options that contain an error in
spelling. Select from the below options that identify the misspelt word. If you don’t
find any error, mark “No error” as your answer.

The Renaissance first emphasized the value of scientific progress, but it was not until
the 18th century Industrial Revolution in the West that the impact of science on
everyday living became aparrent.

Ans X 1.No error
& 2. aparrent
25 3. impact

< 4. Renaissance

Question ID : 630680837842

Option 1 ID : 6306803282078
Option 2 ID : 6306803282077
Option 3 ID : 6306803282076
Option 4 ID : 6306803282075
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Q.7 Choose the most appropriate one-word substitution for the below word.

“Building in which dead bodies are kept for a time”
Ans 1. Mortuary

5 2. Asylum
X 3. Monastery
X 4. Sanctuary

Question ID : 630680837818

Option 11D : 6306803281986
Option 2 ID : 6306803281984
Option 3 ID : 6306803281985
Option 4 ID : 6306803281983

Q.8 Select the most appropriate meaning of the proverb below from the given options.

“Don’t count your chickens before they hatch”
Ans X 1. Do not delay a task if you can do it immediately

#5 2. Do not risk everything on a single venture
/5 3. Don't risk everything on a single venture

«” 4. Don’t make plans based on events that have not yet happened

Question ID : 630680838103

Option 11D : 6306803283097
Option 2 1D : 6306803283098
Option 3 ID : 6306803283095
Option 4 ID : 6306803283096

Q.9 Select the appropriate article from the below options to complete the sentence. Mark
“No article” if there is no requirement of article in the given sentence.

She is most beautiful girl in the class.
Ans X 1.a

X 2.an
25 3. No article

o 4. the

Question ID : 630680838073

Option 1 ID : 6306803282979
Option 2 ID : 6306803282982
Option 3 ID : 6306803282981
Option 4 ID : 6306803282980
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Q.10 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

A tsunami is a destructive natural disaster that can result in the loss of lives and
property.

A) To understand the cause of tsunamis, it is essential to have knowledge about plate
tectonics, which are huge plates that form the top layer of the earth.

B) The disruption can come from various sources, including meteorites, volcanic
eruptions, landslides, and earthquakes in the sea.

C) Tsunamis differ from normal underwater flow because they have an extended
wavelength and can be caused by various factors.

D) It is a series of long, high waves that are generated when there is a disturbance in
the ocean's water.

Ans ¢ 1.DBCA
X 2.ABCD
X 3.ACBD
X 4.CDBA

Question ID : 630680837816

Option 11D : 6306803281976
Option 2 ID : 6306803281978
Option 3 ID : 6306803281975
Option 4 ID : 6306803281977

Comprehension:

Refer to the below passage and answer the questions

Symbols can be an effective way of communicating ideas and messages. They allow us to
convey complex concepts and emotions in a simple and easy-to-understand way. Symbolism
can be found in many different forms of communication, from art and literature to advertising
and branding. One example of symbolism is the use of colors. Different colors can have
different meanings and associations. For example, red can represent passion, love, and
danger, while blue can represent calmness, trust, and stability. This is why many companies
use specific colors in their branding to evoke certain emotions and associations in their
customers.

Another example of symbolism is the use of images and metaphors. These can be used to
communicate complex ideas in a simple and easy-to-understand way. For example, a heart
can be used to represent love, a dove can represent peace, and a broken chain can
represent freedom. Symbolism can also be used to communicate cultural and historical
meanings. For example, the American flag is a symbol of the United States and represents its
history, values, and culture. Similarly, the Chinese dragon is a symbol of power and strength
in Chinese culture.

The power of symbolism lies in its ability to evoke emotions, convey ideas, and communicate
messages in a way that is easily understood. Symbols can be used to create a sense of
identity and community, as well as to bridge cultural and linguistic barriers. Whether in art,
literature, or everyday communication, symbols are a powerful tool for effective
communication.

SubQuestion No : 11
Q.11 Select the most appropriate SYNONYM of the given word below.

Complex
Ans X 1. Modest

/5 2. Simplified
#5 3. Uniform
o 4. Intricate

Question ID : 630680838007

Option 11D : 6306803282720
Option 2 ID : 6306803282722
Option 3 ID : 6306803282719
Option 4 ID : 6306803282721

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258024204/1258024204S7D1091/17187992328093802/2311...  47/69


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

715124, 11:53 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258024204/1258024204S7D1091/1718799232809...

Comprehension:

Refer to the below passage and answer the questions

Symbols can be an effective way of communicating ideas and messages. They allow us to
convey complex concepts and emotions in a simple and easy-to-understand way. Symbolism
can be found in many different forms of communication, from art and literature to advertising
and branding. One example of symbolism is the use of colors. Different colors can have
different meanings and associations. For example, red can represent passion, love, and
danger, while blue can represent calmness, trust, and stability. This is why many companies
use specific colors in their branding to evoke certain emotions and associations in their
customers.

Another example of symbolism is the use of images and metaphors. These can be used to
communicate complex ideas in a simple and easy-to-understand way. For example, a heart
can be used to represent love, a dove can represent peace, and a broken chain can
represent freedom. Symbolism can also be used to communicate cultural and historical
meanings. For example, the American flag is a symbol of the United States and represents its
history, values, and culture. Similarly, the Chinese dragon is a symbol of power and strength
in Chinese culture.

The power of symbolism lies in its ability to evoke emotions, convey ideas, and communicate
messages in a way that is easily understood. Symbols can be used to create a sense of
identity and community, as well as to bridge cultural and linguistic barriers. Whether in art,
literature, or everyday communication, symbols are a powerful tool for effective
communication.

SubQuestion No : 12
Q.12 Identify the suitable title for the passage.
Ans X 1. Cultural and linguistic barriers

o 2. The power of symbolism in communication
5 3. Advertising and Branding

X 4. Powerful tools for ineffective communication

Question ID : 630680838006

Option 11D : 6306803282717
Option 2 ID : 6306803282715
Option 3 ID : 6306803282718
Option 4 ID : 6306803282716
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Comprehension:

Refer to the below passage and answer the questions

Symbols can be an effective way of communicating ideas and messages. They allow us to
convey complex concepts and emotions in a simple and easy-to-understand way. Symbolism
can be found in many different forms of communication, from art and literature to advertising
and branding. One example of symbolism is the use of colors. Different colors can have
different meanings and associations. For example, red can represent passion, love, and
danger, while blue can represent calmness, trust, and stability. This is why many companies
use specific colors in their branding to evoke certain emotions and associations in their
customers.

Another example of symbolism is the use of images and metaphors. These can be used to
communicate complex ideas in a simple and easy-to-understand way. For example, a heart
can be used to represent love, a dove can represent peace, and a broken chain can
represent freedom. Symbolism can also be used to communicate cultural and historical
meanings. For example, the American flag is a symbol of the United States and represents its
history, values, and culture. Similarly, the Chinese dragon is a symbol of power and strength
in Chinese culture.

The power of symbolism lies in its ability to evoke emotions, convey ideas, and communicate
messages in a way that is easily understood. Symbols can be used to create a sense of
identity and community, as well as to bridge cultural and linguistic barriers. Whether in art,
literature, or everyday communication, symbols are a powerful tool for effective
communication.

SubQuestion No : 13
Q.13 Select the most appropriate ANTONYM of the given word below.

Evoke

Ans X 1.Encourage
o 2. Disregard
5 3. Elicit
25 4. Inspire

Question ID : 630680838009

Option 11D : 6306803282730
Option 2 ID : 6306803282728
Option 3 ID : 6306803282729
Option 4 ID : 6306803282727
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Comprehension:

Refer to the below passage and answer the questions

Symbols can be an effective way of communicating ideas and messages. They allow us to
convey complex concepts and emotions in a simple and easy-to-understand way. Symbolism
can be found in many different forms of communication, from art and literature to advertising
and branding. One example of symbolism is the use of colors. Different colors can have
different meanings and associations. For example, red can represent passion, love, and
danger, while blue can represent calmness, trust, and stability. This is why many companies
use specific colors in their branding to evoke certain emotions and associations in their
customers.

Another example of symbolism is the use of images and metaphors. These can be used to
communicate complex ideas in a simple and easy-to-understand way. For example, a heart
can be used to represent love, a dove can represent peace, and a broken chain can
represent freedom. Symbolism can also be used to communicate cultural and historical
meanings. For example, the American flag is a symbol of the United States and represents its
history, values, and culture. Similarly, the Chinese dragon is a symbol of power and strength
in Chinese culture.

The power of symbolism lies in its ability to evoke emotions, convey ideas, and communicate
messages in a way that is easily understood. Symbols can be used to create a sense of
identity and community, as well as to bridge cultural and linguistic barriers. Whether in art,
literature, or everyday communication, symbols are a powerful tool for effective
communication.

SubQuestion No : 14
Q.14 Select the most appropriate SYNONYM of the given word below.

Stability
Ans X 1.Insecurity
o 2. Strength
/5 3. Unstableness

5 4. Irregularity

Question ID : 630680838008

Option 11D : 6306803282723
Option 2 ID : 6306803282726
Option 3 ID : 6306803282725
Option 4 ID : 6306803282724
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Comprehension:

Refer to the below passage and answer the questions

Symbols can be an effective way of communicating ideas and messages. They allow us to
convey complex concepts and emotions in a simple and easy-to-understand way. Symbolism
can be found in many different forms of communication, from art and literature to advertising
and branding. One example of symbolism is the use of colors. Different colors can have
different meanings and associations. For example, red can represent passion, love, and
danger, while blue can represent calmness, trust, and stability. This is why many companies
use specific colors in their branding to evoke certain emotions and associations in their
customers.

Another example of symbolism is the use of images and metaphors. These can be used to
communicate complex ideas in a simple and easy-to-understand way. For example, a heart
can be used to represent love, a dove can represent peace, and a broken chain can
represent freedom. Symbolism can also be used to communicate cultural and historical
meanings. For example, the American flag is a symbol of the United States and represents its
history, values, and culture. Similarly, the Chinese dragon is a symbol of power and strength
in Chinese culture.

The power of symbolism lies in its ability to evoke emotions, convey ideas, and communicate
messages in a way that is easily understood. Symbols can be used to create a sense of
identity and community, as well as to bridge cultural and linguistic barriers. Whether in art,
literature, or everyday communication, symbols are a powerful tool for effective
communication.

SubQuestion No : 15
Q.15 Select the most appropriate ANTONYM of the given word below.

Ability
Ans X 1. Skill
#5 2. Capacity
«” 3. Incapacity
X 4. Aptitude

Question ID : 630680838010

Option 11D : 6306803282734
Option 2 ID : 6306803282733
Option 3 ID : 6306803282732
Option 4 ID : 6306803282731
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Comprehension:

Refer to the below passage and answer the questions

Wetlands are areas of land that are saturated with water, and they play a vital role in
maintaining the health of our environment. They are home to a wide variety of plant and
animal species, and they provide many benefits to humans as well. However, wetlands have
been undervalued for a long time, and their destruction and degradation pose a serious threat
to our planet.

Wetlands come in different types, including mangroves, freshwater swamp forests, peat
swamp forests, lakes, and river systems. They are formed and characterized by water, and
they are critical ecosystems for many reasons. One of their essential functions is flood
prevention. Wetlands act as sponges, absorbing water during storms and releasing it slowly
when water levels are low. They also slow down the flow of water, reducing its erosive force.
In addition to their ecological value, wetlands also provide many socio-economic benefits.
They are sources of water for domestic use, fisheries, forage resources, craft materials, and
medicinal plants. Another crucial function of wetlands is water filtration. They help purify water
by filtering out sedimentation and converting harmful chemicals into usable forms. Wetlands
are sometimes referred to as the "kidneys" of the ecosystem because of their ability to
cleanse the water. Wetlands also attract tourists who come to appreciate their natural beauty
and engage in activities like boating, fishing, and birdwatching.

In conclusion, wetlands are vital ecosystems that play a critical role in maintaining the health
of our environment. They provide ecological, socio-economic, and aesthetic benefits to
humans and wildlife. Wetlands must be conserved, and efforts must be taken to protect them
from further degradation and destruction. It is our responsibility to appreciate the importance
of wetlands and take action to preserve them for future generations.

SubQuestion No : 16
Q.16 Select the most appropriate ANTONYM of the given word below.

Destruction
Ans X 1. Devastation

25 2. Loss
«” 3. Protection
X 4. Havoc

Question ID : 630680837932

Option 1 ID : 6306803282426
Option 2 ID : 6306803282425
Option 3 ID : 6306803282424
Option 4 ID : 6306803282423
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Comprehension:
Refer to the below passage and answer the questions

Wetlands are areas of land that are saturated with water, and they play a vital role in
maintaining the health of our environment. They are home to a wide variety of plant and
animal species, and they provide many benefits to humans as well. However, wetlands have
been undervalued for a long time, and their destruction and degradation pose a serious threat
to our planet.

Wetlands come in different types, including mangroves, freshwater swamp forests, peat
swamp forests, lakes, and river systems. They are formed and characterized by water, and
they are critical ecosystems for many reasons. One of their essential functions is flood
prevention. Wetlands act as sponges, absorbing water during storms and releasing it slowly
when water levels are low. They also slow down the flow of water, reducing its erosive force.
In addition to their ecological value, wetlands also provide many socio-economic benefits.
They are sources of water for domestic use, fisheries, forage resources, craft materials, and
medicinal plants. Another crucial function of wetlands is water filtration. They help purify water
by filtering out sedimentation and converting harmful chemicals into usable forms. Wetlands
are sometimes referred to as the "kidneys" of the ecosystem because of their ability to
cleanse the water. Wetlands also attract tourists who come to appreciate their natural beauty
and engage in activities like boating, fishing, and birdwatching.

In conclusion, wetlands are vital ecosystems that play a critical role in maintaining the health
of our environment. They provide ecological, socio-economic, and aesthetic benefits to
humans and wildlife. Wetlands must be conserved, and efforts must be taken to protect them
from further degradation and destruction. It is our responsibility to appreciate the importance
of wetlands and take action to preserve them for future generations.

SubQuestion No : 17
Q.17 Select the most appropriate SYNONYM of the given word below.

Vital
Ans X 1. Worthless
X 2. Inconsequential
«” 3. Essential
X 4. Insufficient

Question ID : 630680837929

Option 1 ID : 6306803282414
Option 2 ID : 6306803282412
Option 3 ID : 6306803282413
Option 4 ID : 6306803282411
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Comprehension:
Refer to the below passage and answer the questions

Wetlands are areas of land that are saturated with water, and they play a vital role in
maintaining the health of our environment. They are home to a wide variety of plant and
animal species, and they provide many benefits to humans as well. However, wetlands have
been undervalued for a long time, and their destruction and degradation pose a serious threat
to our planet.

Wetlands come in different types, including mangroves, freshwater swamp forests, peat
swamp forests, lakes, and river systems. They are formed and characterized by water, and
they are critical ecosystems for many reasons. One of their essential functions is flood
prevention. Wetlands act as sponges, absorbing water during storms and releasing it slowly
when water levels are low. They also slow down the flow of water, reducing its erosive force.
In addition to their ecological value, wetlands also provide many socio-economic benefits.
They are sources of water for domestic use, fisheries, forage resources, craft materials, and
medicinal plants. Another crucial function of wetlands is water filtration. They help purify water
by filtering out sedimentation and converting harmful chemicals into usable forms. Wetlands
are sometimes referred to as the "kidneys" of the ecosystem because of their ability to
cleanse the water. Wetlands also attract tourists who come to appreciate their natural beauty
and engage in activities like boating, fishing, and birdwatching.

In conclusion, wetlands are vital ecosystems that play a critical role in maintaining the health
of our environment. They provide ecological, socio-economic, and aesthetic benefits to
humans and wildlife. Wetlands must be conserved, and efforts must be taken to protect them
from further degradation and destruction. It is our responsibility to appreciate the importance
of wetlands and take action to preserve them for future generations.

SubQuestion No : 18
Q.18 Select the most appropriate SYNONYM of the given word below.

Aesthetic
Ans o 1. Attractive

< 2. Plain
75 3. Hideous
X 4. Ugly

Question ID : 630680837930

Option 1 ID : 6306803282418
Option 2 ID : 6306803282416
Option 3 ID : 6306803282415
Option 4 ID : 6306803282417
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Comprehension:
Refer to the below passage and answer the questions

Wetlands are areas of land that are saturated with water, and they play a vital role in
maintaining the health of our environment. They are home to a wide variety of plant and
animal species, and they provide many benefits to humans as well. However, wetlands have
been undervalued for a long time, and their destruction and degradation pose a serious threat
to our planet.

Wetlands come in different types, including mangroves, freshwater swamp forests, peat
swamp forests, lakes, and river systems. They are formed and characterized by water, and
they are critical ecosystems for many reasons. One of their essential functions is flood
prevention. Wetlands act as sponges, absorbing water during storms and releasing it slowly
when water levels are low. They also slow down the flow of water, reducing its erosive force.
In addition to their ecological value, wetlands also provide many socio-economic benefits.
They are sources of water for domestic use, fisheries, forage resources, craft materials, and
medicinal plants. Another crucial function of wetlands is water filtration. They help purify water
by filtering out sedimentation and converting harmful chemicals into usable forms. Wetlands
are sometimes referred to as the "kidneys" of the ecosystem because of their ability to
cleanse the water. Wetlands also attract tourists who come to appreciate their natural beauty
and engage in activities like boating, fishing, and birdwatching.

In conclusion, wetlands are vital ecosystems that play a critical role in maintaining the health
of our environment. They provide ecological, socio-economic, and aesthetic benefits to
humans and wildlife. Wetlands must be conserved, and efforts must be taken to protect them
from further degradation and destruction. It is our responsibility to appreciate the importance
of wetlands and take action to preserve them for future generations.

SubQuestion No : 19
Q.19 Select the most appropriate ANTONYM of the given word below.

Appreciate

Ans o 1. Decrease
X 2. Rise
/5 3. Accelerate
5 4. Expand

Question ID : 630680837931

Option 1 ID : 6306803282420
Option 2 ID : 6306803282422
Option 3 ID : 6306803282419
Option 4 ID : 6306803282421
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Comprehension:

Refer to the below passage and answer the questions

Wetlands are areas of land that are saturated with water, and they play a vital role in
maintaining the health of our environment. They are home to a wide variety of plant and
animal species, and they provide many benefits to humans as well. However, wetlands have
been undervalued for a long time, and their destruction and degradation pose a serious threat
to our planet.

Wetlands come in different types, including mangroves, freshwater swamp forests, peat
swamp forests, lakes, and river systems. They are formed and characterized by water, and
they are critical ecosystems for many reasons. One of their essential functions is flood
prevention. Wetlands act as sponges, absorbing water during storms and releasing it slowly
when water levels are low. They also slow down the flow of water, reducing its erosive force.
In addition to their ecological value, wetlands also provide many socio-economic benefits.
They are sources of water for domestic use, fisheries, forage resources, craft materials, and
medicinal plants. Another crucial function of wetlands is water filtration. They help purify water
by filtering out sedimentation and converting harmful chemicals into usable forms. Wetlands
are sometimes referred to as the "kidneys" of the ecosystem because of their ability to
cleanse the water. Wetlands also attract tourists who come to appreciate their natural beauty
and engage in activities like boating, fishing, and birdwatching.

In conclusion, wetlands are vital ecosystems that play a critical role in maintaining the health
of our environment. They provide ecological, socio-economic, and aesthetic benefits to
humans and wildlife. Wetlands must be conserved, and efforts must be taken to protect them
from further degradation and destruction. It is our responsibility to appreciate the importance
of wetlands and take action to preserve them for future generations.

SubQuestion No : 20
Q.20 Identify the suitable title for the passage.

Ans X 1. Variety of plant and animal species
#5 2. Craft materials and medicinal plants
«” 3. The Importance of Wetlands

25 4. Wetlands- serious threat to environment

Question ID : 630680837928

Option 11D : 6306803282409
Option 2 ID : 6306803282408
Option 3 ID : 6306803282407
Option 4 ID : 6306803282410
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Question ID : 630680840615

Option 1 ID : 6306803293126
Option 2 ID : 6306803293128
Option 3 ID : 6306803293125
Option 4 ID : 6306803293127
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Question ID : 630680840570
Option 11D : 6306803292954
Option 2 ID : 6306803292953
Option 3 ID : 6306803292955
Option 4 ID : 6306803292956
Q.3 IFH A A TS gl
39 91 H o v &Y g s 31eg gRT B
Ans X 1.dfgr
X 2. fUer
& 3. Ute1
X a.fusr
Question ID : 630680840639
Option 11D : 6306803293224
Option 2 ID : 6306803293221
Option 3 ID : 6306803293223
Option 4 ID : 6306803293222
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Question ID : 630680840550
Option 1 ID : 6306803292875
Option 2 ID : 6306803292873
Option 3 ID : 6306803292874
Option 4 ID : 6306803292876
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Question ID : 630680840630
Option 1 1D : 6306803293185
Option 2 ID : 6306803293188
Option 3 ID : 6306803293186
Option 4 ID : 6306803293187
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Question ID : 630680840571

Option 11D : 6306803292958
Option 2 ID : 6306803292959
Option 3 ID : 6306803292957
Option 4 ID : 6306803292960
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Question ID : 630680840614

Option 1 ID : 6306803293121
Option 2 ID : 6306803293123
Option 3 ID : 6306803293124
Option 4 ID : 6306803293122
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Question ID : 630680840629

Option 11D : 6306803293182
Option 2 ID : 6306803293181
Option 3 ID : 6306803293184
Option 4 ID : 6306803293183
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Question ID : 630680840574

Option 1 ID : 6306803292969
Option 2 ID : 6306803292970
Option 3 ID : 6306803292972
Option 4 ID : 6306803292971
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Question ID : 630680840611

Option 11D : 6306803293111
Option 2 ID : 6306803293109
Option 3 ID : 6306803293112
Option 4 ID : 6306803293110
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Question ID : 630680840628

Option 11D : 6306803293177
Option 2 ID : 6306803293179
Option 3 ID : 6306803293180
Option 4 ID : 6306803293178
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Question ID : 630680840623

Option 11D : 6306803293157
Option 2 ID : 6306803293160
Option 3 ID : 6306803293158
Option 4 ID : 6306803293159
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Question ID : 630680840636
Option 1 ID : 6306803293209
Option 2 ID : 6306803293212
Option 3 ID : 6306803293211
Option 4 ID : 6306803293210
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Question ID : 630680840575

Option 11D : 6306803292973
Option 2 ID : 6306803292974
Option 3 ID : 6306803292976
Option 4 ID : 6306803292975

Q.15 fafafad Al & ¥ #19 a1 ve ar fhar-faRivor & gwa= T@ar g 2
Ans X 1. ORI T |

X 2. WA HEA S |

X 3.HUAWEE |

o 4. 79 - egaars |

Question ID : 630680840563

Option 11D : 6306803292927
Option 2 ID : 6306803292925
Option 3 ID : 6306803292926
Option 4 ID : 6306803292928
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Question ID : 630680840568

Option 1 ID : 6306803292947
Option 2 ID : 6306803292948
Option 3 ID : 6306803292945
Option 4 ID : 6306803292946
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Question ID : 630680840565

Option 11D : 6306803292933
Option 2 ID : 6306803292935
Option 3 ID : 6306803292936
Option 4 ID : 6306803292934
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Question ID : 630680840627

Option 11D : 6306803293173
Option 2 ID : 6306803293175
Option 3 ID : 6306803293174
Option 4 ID : 6306803293176

Q.19 3FeT femmT gera &1 Shra 3 & g 82

Ans X' 1. 97d I
X 2. ¥%e O oA
X 3. 18U S
o 4. T W 41 &1

Question ID : 630680840566

Option 1 ID : 6306803292938
Option 2 ID : 6306803292939
Option 3 ID : 6306803292940
Option 4 ID : 6306803292937
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Question ID : 630680840548

Option 1 ID : 6306803292867
Option 2 ID : 6306803292866
Option 3 ID : 6306803292865
Option 4 ID : 6306803292868
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Section : Test of Hindi Language and Comprehension 2
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Question ID : 630680840580

Option 11D : 6306803292995
Option 2 ID : 6306803292993
Option 3 ID : 6306803292996
Option 4 ID : 6306803292994

Q.2 fFufafea & & ggor o1 e s 71 §m?
Ans v 1. R

& 2. S

X 3.®feA

X 4.Ra

Question ID : 630680840587

Option 1 ID : 6306803293022
Option 2 ID : 6306803293023
Option 3 ID : 6306803293021
Option 4 ID : 6306803293024

Q.3 frofafad & @ s o1 wafarard e = ghm?
Ans g 1 3EMD!

X 2.3\

X 3. faftm

K 43R

Question ID : 630680840585

Option 11D : 6306803293015
Option 2 ID : 6306803293014
Option 3 ID : 6306803293016
Option 4 ID : 6306803293013

Q.4 fmfafad ol & Q S19-91 a9 S 82
Ans X 1. i TETe B T
X 2.3 300 ¥ 95 QG el gor |
X 3. areE | Blel-ar /iR 7 |
& 4. APLRER ST 3T Wd ) o B B |

Question ID : 630680840616

Option 1 ID : 6306803293131
Option 2 ID : 6306803293132
Option 3 ID : 6306803293129
Option 4 ID : 6306803293130
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Q5 fmfafed d 3 e &1 fadm 2 & gim?
Ans X' 1. gOg

& 2. g999

X 3.3 gAY

X 4. 3FgHg

Question ID : 630680840586

Option 11D : 6306803293019
Option 2 ID : 6306803293018
Option 3 ID : 6306803293017
Option 4 ID : 6306803293020

Q.6 fmfefad # & err &1 sAe1de U T8l @ 2
Ans X 1. 3%

o 2. @

X 3. frR

& 4.9

Question ID : 630680840642

Option 11D : 6306803293234
Option 2 ID : 6306803293233
Option 3 ID : 6306803293235
Option 4 ID : 6306803293236

Q.7 fufifEd § @ T=ar &1 waiadr! U &1 g2
Ans " 4 1. ISafa

X 2. fAea
X 3.9TR

X 4.5rg1

Question ID : 630680840646

Option 1 ID : 6306803293251
Option 2 ID : 6306803293252
Option 3 ID : 6306803293250
Option 4 ID : 6306803293249

Q8 A Treg, WY WP 3R WTpa A fApd Srox R F A ¢, 3 a1 PEd &2
Ans X 1. f3eze

o 2. T%a
X 3.999
X 4.3

Question ID : 630680840641

Option 1 ID : 6306803293232
Option 2 ID : 6306803293231
Option 3 ID : 6306803293230
Option 4 ID : 6306803293229
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Q9 fufafed arei d 9 Y= 919 &1 999 e
Ans X 1. fRETFHIGRUIBE S ® |

2. NaT BT SRR FREAR |

X 3. A e Rt s fed g |

X 4. MU TwEWEE I
Question ID : 630680840617
Option 1 1D : 6306803293133
Option 2 ID : 6306803293135
Option 3 ID : 6306803293136
Option 4 ID : 6306803293134
Q.10 fgffEd & ¥ S-91 Weg “J3” BT aH g 2|
Ans X 1.3
X 2.9qd
X 3. TareT
o 4.5
Question ID : 630680840579
Option 1 1D : 6306803292992
Option 2 ID : 6306803292990
Option 3 ID : 6306803292991
Option 4 ID : 6306803292989
Comprehension:
¥ fo2 U TRrY B eargdes U SR e fardt e I ud e & qut &t wRaTg fhu
T, Fad =i 3 7T TR & SR TR g1 06! SR &I 99 Hi |
T UG a2l &1 bl & i Rieht o ¥ ud g€ 8 | U & w1 U Wia-ar aft
gt § 3R I 718t firet urar | Sfere Sftad & 3 &0 &l 9gd HiAd § , S Sidd Bl TeTeT § 3R
9 B S 1 YA & | S SHGRIRal 3 ARl 1 U o781 faerad Aifav faan @ i sia
30 ot fr-alRa o a1d = 93T, a1 I8! &1 Hg AR &1 R PR &l | 519 9 YBT T[T fos
ST 3R U< BT 1 G | Y SR Al 3 98 Hesd a1e feareh kgt @ fob 3=t X &l
TR-ZaN &R 81 TR 3R 39 RE 98 HHe-&01 WS g 1l 8, ot it ot St & e g |
SubQuestion No : 11
Q11 g & I | &0 Geua @ 2
Ans X 1 A HFFTIATSTAS |
X 2. S Slie § 31ag & HR G
o 3. S e &t Wig-aH &1 ol B Yar S |
2 4. 9 Sita &) gy F WR
Question ID : 630680840607
Option 1 1D : 6306803293095
Option 2 ID : 6306803293093
Option 3 ID : 6306803293094
Option 4 ID : 6306803293096
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Comprehension:

&2 U TerRr B eargdes U SR e fardt e I ud e & aet @t wRaTg fhu
o1, oot i &8 77T e & SNYR R B U8 SR & IUH B |

T URIG SN2l &1 de1 ¢ i Rt gud @ 1 g2 % | U & a1e o Wia-q ot &)
g § SR I 1€ firet uraT | 39T Shae & I &0 &1 Sgd BT , S SiaT Bl Teel § 3R
W= PI Ao B YT S | 39 SHaTRel! = Tl bl Uep 87 feeraed HeifaRT o § i wia q|
3o foreht - g o o1 v 93T, df ISt 1 g AR @t R IR &l | T I YBT W o
ST 3R TSt BT 1 T g, A IR e b 98 preRed I1e fearmdt W8t § i gt R @
TRI--Za T IR B TR SIR 3 ORE 98 Me-&01 WS g1 e 8, S i ot areriia & e § 1

SubQuestion No : 12
Q12 SfigAH T &l B Iga PIA, NSNGA DI _____ ¢ SR Wia-aF $1 dsft St yar g |
Ans X 1. GRATA @RI
o 2. 0T
X 3. 9dR
K 4.0

Question ID : 630680840609

Option 11D : 6306803293104
Option 2 ID : 6306803293102
Option 3 ID : 6306803293103
Option 4 ID : 6306803293101

Comprehension:

2 &2 U TRriY B eagd e g 3R T fardt g I Ud e & @t @t wrarg fhu
T, raa T 3 TTU TRy & STUR W B 9Et SR BT I B

TS URIG SRR &7 g1 8 b Rt Go ¥ 48 g€ 8 | v & 18 U Wia-aH @it &
gt § 3R I 1Y firet ura | sfere Sftas & 3 &0 @I 9gd HIAd § , S S &I TeTar & iR
- P1 Ao B YT S | 39 SHaT2rel! = Al bl Ueb o7 feeraed H=ifaRT f&an B o wia qo
3 Tt FP-EIRd ¥ S1d = 931, 1 O] 1 g IR &I kW B &l | 9d I YT 1 b
ST 3R TSt BT 1 TR g, A SR e % 98 pHeRed I1¢ fealrht et § [ gt R &
TRIT--ZaTt AR B TR SIR 3 ORE T8 Me-&01 WS 81 e 8, S ot ) arereit & e @ 1

SubQuestion No : 13
Q.13 Rigft frad vt gg 8 2
Ans X 1. 39 Y
X 2.5MY
X 3. @ ¥
4. TaE

Question ID : 630680840606

Option 1 ID : 6306803293090
Option 2 ID : 6306803293089
Option 3 ID : 6306803293092
Option 4 ID : 6306803293091
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Comprehension:

3 o2 U TerTY B eargdes U SR e fardt e I ud e & qel @t wRaTg fhu
o1, oo i &8 77T T & YR R B U8 SR & IUH B

T URIg SN2l &1 del ¢ b et 9ud @ 1 g2 % | U & o1e o Wia-d ot &)
g & SR I 1€ foret uraT | 39T S & I &0 &1 Sgd PG , S SiaT Bl Teel & 3R
- PI Ao B YT S | 39 SHaRel! = Tl bl Teb 87 feeraed HeifaRT o § i e qu
3 foreht g o o1 v 93T, df U€t 1 g AR @t R IR & | T I YT W o
ST 3R TSt BT 1 T g, Al IR e {6 a8 preRed I1e fearmdt T8t § i gt R @
TRI--Za T IR B TR SIR 3 ORE I Me-&01 WS g1 e 8, S i bt areria & e @ o

SubQuestion No : 14
Q.14 i 1 ygtarh 3 Fafaf@a A A FA 82
Ans X 13RI

x 2.3
X 338
o 4. TR

Question ID : 630680840608

Option 1 ID : 6306803293097
Option 2 ID : 6306803293098
Option 3 ID : 6306803293099
Option 4 ID : 6306803293100

Comprehension:

2 &2 71U TeriY B eargd e g SR T fardt g I ud e & et @t wrarg fhu
T, rad T 3 TTU TRy & STUR W B et SR BT I B

TS URIG SRR &7 g1 8 b Rt To § 4 g$ 8 | v & 18 U Wia-aH @it &
gt § 3R I 1Y firet urar | sfere Sftas & 3 &0 @l 9gd HIAd § , S Sidd &I TeTaT & iR
W= P1 Ao B YT S | 39 SHaTel! 3 Al bl Ueb o7 feeraed H=ifaRT & B o wia q|
3 Tt FEE-aIRd ¥ 91 &= 93T, 1 I1 &1 4g IR &I kW I &l | 9Id I YT T b
IaEid SR TS} &1 7 T § , df IR AT i 98 wHe are feand B § & 3o R |
TRt 3R B TR SIR 3 ORE T8 MTC-&f01 WS 81 e 8, S ot o} arereitr & e @ 1

SubQuestion No : 15

Q.15 fgfifea & @ $19 a1g fiandh edl @ % ga-t 3 8 Ti-ga- &R 8 it 3R s AR a8
STT5-&0T WiSd 81 ST €, 5 for &Y Sraeia 4 fraar g |

Ans X 1 o gnfa
o 2. 931
X 3.daR
X 4. ggdf

Question ID : 630680840610

Option 11D : 6306803293108
Option 2 ID : 6306803293106
Option 3 ID : 6306803293105
Option 4 ID : 6306803293107
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Comprehension:

2 o2 U TeriRr B eargdes U SR e fardt e I ud e & @t @t wRarg fhu
o1, oo ) o8 77T T & SNYR R B U} SR & IUH B

it 9T &1 Wl et SHI-0TA J 781 il had dATe- U el oI, Sfeh 3D (1T LTI
HRATUSAT 8 | 97 T aR0] BT USal § | IR Sueraif 3R Tapet # oft 3o wwion ¥ faafea
g giaTan afad g fard a1 8 | IR & R off 7em gru gu § |, 35 ufaga ufkiRufaat
%WWW%@TW%@@W%W%WMM&WW@W%
ﬁg@ﬁ%lWﬁW%WWW%WW%@H%%W
THT g |
SubQuestion No : 16

Q.16 HHR # foras oft 7™ g3 gU ¥, I5iA widga uRfRufeal & s w e g2

Ans g1 IOy

X 2.9e18
X 3. 78d
X 4. gganT

Question ID : 630680840544

Option 1 ID : 6306803292852
Option 2 ID : 6306803292850
Option 3 ID : 6306803292851
Option 4 ID : 6306803292849

Comprehension:

¥ &2 e TeriY B eagde U iR e fardt g I ud e & qut &t wrarg fhu
T, rad T 3 TTU TRy & STUR W B 9Et SR BT I B

it 91 Bt Wt had S=0T-HF § 81 Bidl pad e o el g, Sfeh ISP (AT T
FETUSA © | 45 B IR BT TSl § | IR 3Muersii 3R Jevel & it era Seioy I faaferd
Tt eHaTen safad € faordt gt 7 | TR o e o e g3 gu § , S=iA ufdga uRkfufaat
ﬁwmm%ﬁmﬁﬁqmwwéﬁmuaﬁmmawé
W%@@%IWE%W@WWW@%WW%EWWWW
Jharg |

SubQuestion No : 17

Q.17 {59 UPR &1 e oo glar g 2
Ans X 1. ot 1d &t gwT e araT

X 2. fFIR W I g I
3.9 B A [ T8
X 4. g@el § YIH arar

Question ID : 630680840541

Option 1 ID : 6306803292839
Option 2 ID : 6306803292840
Option 3 ID : 6306803292838
Option 4 ID : 6306803292837
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Comprehension:

3 fo2 U TeriR B eargdes U SR e foardt e I ud wifew & qut @t wRarg fhu
o1, oo = o8 7T T & SNYR R B U8 SR & IUH B |

bl 91 1 Il SHad 3=B1-HE J a1 Bidll dad g F g1 i, dfeh IYb AT S{eadrg
HRATUSAT 8 | 97 T aR0] A1 ISl § | IR Suerait 3R Tapet # oft 3o wwion ¥ faafea
g giaTan afad g fasrd a1 8 | TR & frem off 7em gru gu § |, 36 ufaga ufkfRufadt
%me%eﬁﬁﬂuﬁmﬁﬂhaﬁﬁm%wummmﬂwé
ﬁg@ﬁ%lWﬁW%WWW%WW%@H%%W
THT g |
SubQuestion No : 18
Q.18 ot 91 &) Wity Fad SO1-ATA TS A181 & 3fTar H4 gt g ?
Ans X 1. 39 ¥
X 2. B ¥
o 3. dH S ROY

X 4. gy

Question ID : 630680840540

Option 11D : 6306803292834
Option 2 ID : 6306803292836
Option 3 ID : 6306803292833
Option 4 ID : 6306803292835

Comprehension:

2 &2 U TRriY B ergdes g 3R T fardt g I ud e & @t @t wrarg fu
o, aa A o8 7T Teiw & YR R I SR o IUH B

Pt 51 ) Wity Faw ST-013 ¥ 781 81! Had dle F ol 81d1, Sfewp ISP oY Seaary
PRATUSATR | 4 BT RO BATUSAT & | OR ATUer3ff 3R Febel & ot 3a i T fa=fera
&} EaTa s g faerdt gl © | TR B R o 78 Ry gU § , Ii4 Ul uRiRufaat
ﬁwmﬁ%%ﬁﬁ&uﬁmﬁﬁq@mmw%muaﬁmmawé
W%@@%IWE%W@WWW@%WW%EWWWW
JHarg |
SubQuestion No : 19
Q.19 =R muersi iR Hepel # oft 3 Fiad | el A e oo aafdqa & garg |
Ans X 1. M

o 2. oot

X 3R
X 4. B

Question ID : 630680840543

Option 1 ID : 6306803292848
Option 2 ID : 6306803292847
Option 3 ID : 6306803292846
Option 4 ID : 6306803292845
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Comprehension:

2 o2 U TRrR B eargdes U SR e fardt e I ud e & qet @t wRaTg fhu
o1, oo = o8 7T T & SNYR R B U8 SR & IUH B |

fpdl 91 & It radt S<1-013 ¥ 181 8Id! dhad dlg- ¥ a1 sidl, Sieh 39 (oY L™
HAT TS € | 9 BT IRUT BT Usell ¢ | 8RR Sfoeraii 3R Yavel H ot 3 deicd  fa=fera
g giaTan afad g fard a1 8 | IUR & R off 7em gru gu § |, 36 ufaga ufkfufaat
%me%eﬁ?mﬁﬂhaﬁﬁm%wummmﬂwé
ﬁg@ﬁ%lWﬁW%WWW%WW%@H%%&W
THT g |

SubQuestion No : 20
Q.20 fPud SYH PRI W 93 Te7aTd IRT8! & §T4 Hidt 78T orar 32
Ans 1. TR P TR F

X 2.3=31Y

X 3. Faagm

X 4. gg¥

Question ID : 630680840542

Option 1 ID : 6306803292843
Option 2 ID : 6306803292842
Option 3 ID : 6306803292841
Option 4 ID : 6306803292844
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